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Chapter 1 o Multiple Chdice Questiens

(Enc;rcle the correct answer chozce)

1. For any complex number z, 1t is always true that lzl is equal to

(@) 1z | ® |-z1 () I—z | (d) all of these

2. If z1 and zz aré any two complex number, then

(@ |zt 22| < | z1l + |72z (b)|21+221<|21|+|22|
(©) | z1— =z2| < | z1l =] 22| (d)lzl+22|>|21|+|2'2|
3." If z1and zzare two complex number thf_r_l__
(@) z+ z, "zl+29 (b z,2, —z;u
© | z12z2| I21i lzzl ' (d) allofthese ,
4 The numbers which can be put 1n the form of 2 p, g€ Z ,q ;ﬂ 0 are
(a) Rational numbers : (b) Irratmnal nnmbers o
(c) Natural numbers = (D) Integers

B, The numbers wh1ch cannot be ertten in the form of 2 p, qe Z

g#Oare ‘ |
~ (a) Rational numbers () (b) Irrational number&
- (¢)Complex numbers\ (d)Whole numbers =

6. A decimal wh1ch has only a finite numbers of digits in its deci mal

part is called, _
(a) Termmatmg dec1ma1 (b) Non termmatmg demmal
- (c¢) Recurring decimal " '(d) Non recurring o
7. A decimaliin which one or more d.lglts repeat 1ndefimtely in 1ts
decimal part is called

(a) Terminating decimal (b) Penochc decimal
(c) Infinite set = SRR (d) Repeated number
8. Every recurring decimal is "
- (a) a rational number. | (b) an- Irratxonal number
(c) a prime integer =~ (d) a whole number
9. Anon terminating and a non recurrmg decimal is.
(a) a rational number " (b) an Irrational number
- (e Perlodlc number . { (d) a sequence o
10 5333 ...... is. o -

_ (a) Ratmnal (b) Irratmnal (©) an Integer (d) a prlme mtegel N
11. 7 s’ - - '
" (a) Rational _ (b) Irratlonal ' (c) Natural n_umbex (d) None

Y . s
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OB.JE_QTNE PART

18. -7 is the ratio . o e
' circumference of cu'cle . circumference of circle. . =
(‘ ) length of diameter (b) - length of Radius
__length of diameter - ... length of Radius
- (9 circumference of circle @ circumference of circle
14 Every Integeris alspa . o > s
(a) a rational number - * " (b) an Irrational number
, ‘(¢) a Natural number (d) a decimal number R
15. If nis a prfme number , then \jr_z is. o :
(a) a rational number .~ - (b) an Irrational numoer
(c) an Integer ' (d) permdlc number -
16. If nis a negative number, then\/t-t is :
(a) a rational number " (b)an Irrational number .
" (c) only negative integer =~ - (d) a pure Imagmary
_ _17.' The number ‘0’ is ' -
- (a)arational number . - . (b)an 1nt_eger
~ (¢) Even number - - (d) all of these
18. The number ‘0" is - :
(a) anon posmve 1nteger . (byanon negatwe mteger

. (¢) Real number (d) whole numbér ~ (e) all of these
19. Ifa, b e Rand (a+ b) € R then this property of real numbers is
- (a) Closure property w. r. t. +(b)Commutative property w.r.t+
| ¢c) Associative property W, 't t + (d) Additive property
- 20. Fora,be Rifa+b= b +'a, then this property is called
‘(a) Closure propertyw. r.'t + (b) commutative property w.r. t+
: (c) Associative property w.r.t+ = (d) Dlstrlbutlve property
- 2L ‘Mul_tlphca_tlve Inverse of 0is -
@ 0 (b Any real number (c) Not deﬁned (d) |
22. If a 18 any non- Zero real number then its multlphcatlve inverse 1s

(a) -a ™ (b) _. (c)— L (d) Not defined- '

23. For all a €R, a=a is .. ... prOperty S
. (a) Reﬂexwe (b) Symmetrlc | (c) Transitive (d) Tnchotomy
24. For alla,be R,a=b= b= =a is called . Property '
_ (a)Reﬂexwe (b) Transmve - (e) symmetnc ) Trlchotomy
25 Fora, b.ce Rifec=b,b=c=>a=c, thenitis... ... property
. (a)’I‘ransxtwe (b) Tnchotomy (c) cancellatlon (d) symmetric
26. Fora, b,ce R a= b=>a+c=b+c thenitis..... property
7 (a) Transltlve (b) Trichotomy (c) cancellation (d) Additive
27. Fora,b,ce Ra+c=b+c= a=b, thenitis.... Property
(a) Transmve (b) Tr1chotomy (c) cancellation - (d) Additive

@ﬁg’ aﬂﬂh%@&
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- _ OmsEcTvEPART - 3 ‘
28. Fora b,ce R a =b> ac =bc ,,then it i8 . prbperty _
~ (a)Commutative (b)Closure (c)Transltxve (d)Multiplicativ'e

29, Fora,b ce Rand a>b,b>c= a>c,thenitis .. .. property
- (a)Transitive -(b)Trichotomy - (c):Cancellation (d) Inverse '

- - 80, Fora,bce R’ 1fa<bandc>0 then which is true

.. (@a+c>btc (byac>bc  (¢)ac <bec (d)a b >0 |
31. Fora, bCElea>bandc<() then .

- (@atc<b+c . (b)ac>be (c)ac<bc | (d)a b<0
32. Ifa>0and b<0 then
(ayab>0 . (b) ab<0 (c)a+b>0 (d)a,___b<0y

33. The set {1, — 1} is closed w. r. t

(a) Addition = (b) Mult1plicat10n (© Subtractlon id) '1.\10!}e.', e

34. The set {1} has closure property w. r.t . o \
" (a) Addition  (b) Subtraction “{e) Dnnsmn -(d)- No'ne,
'85. a (b +c-d)=abetac-ad is --:--- property -
_ (a)Left distributive (b)Right dlstnbutzve (C)ASSOClatIVe (d)none
36 Ifa<bthen ' L
1

(a) as< b "(b)-"<"1" . '(cl>'5 @a- b>0

f37 If bg _%}q_ ', k+# 0 th1s rule s called R
(a) Rules of prcduct of fractions,  (b) Golden rule of fractlon
(c)Rules of Quetient of fractions (d)principle for equahty of fractmn '
38. Ifnisaneven Integer, then (1)»is equal to -

@ i (G e A @1 =i
39. If n is an odd number then (‘i)- ris equal to" PR
. @ - ©+£1 T @=xi
40, Ifn is-an int'egx_'al multiple of 4, then (i) »is equal to.
@8N -1 (@1 BNGIE AN
41. Ifa+ b =c +id , then it must be true that S
- (a)a—c&b d’ . (b)a=—c&b=d -
(a=d &b=¢c . (d)ad=bec s
42. If a +ibis complex number then its comugate is
(@) a-1ib (b) —a - () \]az +b2 . (@) ab

43. Ifzis ‘any real number, then 1ts conjugate is .
(a) a real number (b)complex number (c) any Integer {(d) zero
44. If k is.any real number anda +ibisa complex number then ,
(a) Tk(a +ib)] =ka+ib (bY |k(a +ib)| =ka-ikb =~ .+
| (©) |k (a+ib)| =Jk¥a%+b2) - (d) None of these - ,
45. 'T‘he additive identity in set of complex num’ ers is

(a) (0 0) (b) ©; 1. (c) (Lo (d) @, 1) )
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46.
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50.
51.
52,
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54.
55,
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OBJECTIVEPART 4

The multiplicative Identity of complex numbers is -
(a) (0, 0) O.1n 0) @y
The additive Inverse of (a, —b)xs . T
(a) (@, b) (b)y(a,-b) (0) (-a &b)"
The multiplicative Inverse of (a,‘-b) R R
a b : , L ”b’

(a)(a_+b2 ’a,_+b2 ) - (b)(a2+b2 Y -y +b2 )

. b '

O ) <d><m \/am?’
(0 1) isequal to - -_ | A
@1 . - i . (C)—L _-‘;(d)O S
0, 1)2 is equal to o L
(@1 b)-1- -(c) P (d)~z“‘

0, 1)3 is equal to - - ' L

L@l ®-1 @i . L_.(d)—-a--_f |

(0, D4 1sequal to- L e e N
@1 - ®-1 @i N @
(-i)®isequal to . A&
@:c - - @1y @-1
-2 . . ) o
(=1) ? isequal to =2\ SO o
@i . - . - )1 - (d)-1"
(0, 3) (0, 5) is equal to - o o
(a) 15 - (b) ~15-.\ ©-8 (D8
The sum of two conjugate complex numbers is ;
“(a) a real number . (% - . -(b)an rmagmary num’oer
(c) real or imaginary numher S5 (d) net deﬁned .
The product of twe comugate complex numbers is",

(a) a real numbér’ : ‘ {b) an- Imagmary number ” L

(c) May be_an Irratzonal number (d) not deﬁned
The multlphcatzve Inverse of (=4, 7) xs

@G 65) (b)(65 65) ()(\[—\[—) ()(\/—\/—)_

Factors of 3(xz+ y-) are S _
() 3(x +y }x- ), — L (b) 3(x +ty )(x ty)

| '(c)\/'é(xny)(x—zy) o (@meme i o
60.1 - . ) . . _' . ‘.'.

+
Real part of 2 L 1s equal to

, .-‘(a) 1‘ P (b) 2. (C) -'-—1*--7' Tr(d)‘ 5‘ -
6l | L

Imagmary part of (-2 + 31,)3 is- equal to T
(a)-2 . ®9 (C) 26 " ,f](d) -8 o '
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62. If R is the set of real numbers, then product Rx R is called |

(a) Carteman plane = . - - (b) Argand diagram
~ (¢) Ordered pair = - - (d) real line '
- 63. The geometrical plane on whmh coordmate system has been
specxﬁed iscalled.” .~ | .
~ (a) Coordinate plane or real plane (b) Argand dlagram
(c)Carteslan plane S " (d) Real line

. 64. Ifa point A of a coordinate plane corresponds to the ordered pau'

(a, b), then a and b are called.

* (a) Coordinates of psint A ~ (b) Value of pomt A
(c)Abscissaof point A . - - (d) ordinates of point A

- 65. If point A of the coordmate plane corresponds to the, ordered palr

(a b) then, .
- (a) a is "abscissa of pomt A o (b) b is ordmate of pomt A
(c) a & b are -coor dinates of point A (d) all of these |

~ 66. The modulus value of a complex number z =x + iy i§ the distance form
- (a) x- axis (b) y- axis (c) omgm v (d) (x, y)

67. If z= x+1y thenlzl o o

, (a) W - ()X —y? (c) - Ly - ,(d) x2+ y3

- 68, Ifz -—2+3; 22 =1-1then |zizzl=

@138 ® 26 (c)«J_s @2

69, The correct statement of De.Mover's Theorem 18

(cosﬂ+zsm O)» is equal to) o
(@) (cos @ +isin @y iy (b)(cosnﬂ-i-r,smnﬂ)

;(c)(ncosﬁ+zn31n9) ‘ "—(d)(cosnﬂ-—zsmnﬂ)
. 70. Polar formof 1¢3y3is . e
(a) 2 (cos 60°+¢ 1, n 600) o (b)-2 (cos- 60° — { sin 60“)_ _
- (©) 2(cos 308 Fisin30°) ‘(d)'cos'60°+isin 60
71. iReal part of (x +Ly) nig - o :
. (a)co8m® . S (b) smnﬂ
(@ mcosn® SR _(d) rginn®
72. Polar form of(\[é +i) 1s ..', o S R
| @200s T +isin %) o 2'(0048%*?.’&1:1_%..) -
© 2(cos % + i sin —3-)* O @r2eos g-ismﬁ’-’;—;).; :
732‘ Ifz1sareal’number 'then - B i
 @z=z. . BI=lzl @2z = 2l @z=-z
4. If —3 - 50, _then |zl2lsequalto S
(a)34 (b)\]—4 (c) 6 - (d)nane-..‘.'

ﬁ'zfnnﬁn%hh
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78. Ifzaa.-l-c.b, then (z-&)-f is equal to . o
(@2 (b).4a. S (o) - 4bt (d) 403 '

'.78 If 2= a+r.b then(Z“Z )maqualto |
(2) 2(a’+ b (b)2a? ~-b) (o) 4 wb (d) (r:zag + bﬂ)2 |
g '17. femx+iy, then argument of gis. -

(a)6=tan ’G) R (b)eatan 1(‘9
 @es-mnt) @o=-tan {{]
18, Iflx-i-bil =3, then xisequalto -
| NOEY S (b)#% Lo () R2i - (d) none of these o
L 'IB. Goldenrule offractionlsthatforkio 3- N L
whk g - we le%

~ 80, Th° “t {1 =1} Possesses closure properiy w1t : Ty
() addition  (b) mulﬂpliﬂ&‘u‘iﬂn (o) division (&) subtraction

:-'!1. (-l)’ eguals: . -
(ﬂ)l | (b)*=1 . .W (O)i (d) i
83, The modulus of Zis:  ~

@val-b' (b) a’%-bil (e) »/a +b’ (d) \}a -(ib)’

83, 0.142857142887 Literivie i

(a) irrational, number S (b) rational number

-~ (o) naturalpumber (d) dacimal number .

84, 1Mequals: S _ o L
v(a)l (b_)l-.- (c)-l (d)-i L

- o le Choi« guut!onl |
(Enotrclc tiu cornet anlmr eﬁolec)

| 1. IfA e BandB G Athen which is true PR A
(@ A=B . (HA=B (@ ANB=¢g d)AUBld" |
3 Q=1 correspgndenee ¢an be established in,,twe sets A pnd -

B, then it must be true ﬁhat
(@WA=B (BHA~B (c)AﬂB- ¢ (d)AﬂB$¢

3. The set N of natuml numbm and O of odd number are -
@WN~0 - (b NNO= ¢ (ONUO=0O (d) none of these

*: N L
e T
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. OBJECTVEPART 7/

4, Theset NandZare - A
(a) Equivalentsets ~~ - (b) Equalsets .-
L (c) Disjoint sets . - o (d) finite sets- -
5. Which of the following is true . |
@NcZ (b)Zc@ @ QR (d) all of thege

e 0 If a set S has . elements, then number of subseta in S are

o @md (b 2"! . (e) mxm (d) m-
1. IfAg B, then - o
-~ _(a)Bis super set of A (b) ANB =g
. (©B=-A=A-B ‘ a WANBz ¢ :
'8, IfasetShasno proper subset, and then S will be .
- (a)asingleton et =~ (b) eémpty set
"~ - (o) an infinite set : . (c) not a set{ -
9. 1fa set 8 has one propeér subset cnly, then 8 willibe - E
- (a) a wingleton set ~ (b) empty ket
(¢) an infinite set - - - {(6) not, a set _
10. If aset Shas n elemants, then number of elements inP (S) =
. (a)ynd (h)y 2@ (c)-@n*n (d)n |
11. The set of all subsets of a vet fncalled ~ .
(a)Powerset = (CAb)Subset -
© (o) Buper set o : (d) Infinite ot -
13. If8={ ), then order efeetSis C | |
| @ 0 - (MANS () Infiniteset -~ (d) *net deﬁned .
18, The Power set of ah empty set has : - |
~(a)Noglements,/) -(b) One element
{¢) Infinity many clements (d) Twe elements
14, Ifn (8) =" then n (P(8)is equalte
o (@m B g @2 (dm
18, The set.of all elements under consideration is called
(8) Universe of discourse  (b) Universe _
(o) aninfinite met .(d) Finite set

‘16. The set of real numbers between land 3is o
" (a) Infinite set (b){2} (o) finite set () ‘srou‘p :
i7. ’I‘abularfarm of {# | & IQ, x--z) is

o@i{er mii - (e) all Raticnal @ {2}
, 19. Which of the follewing is true |
wad{fal}l (b ¢ & a) S
" e itatl (d)ﬁi'{{ﬂ} e
~ 18, The set builder form afAUBis equal t0 S
| @) {#| ¥¢ArxeB (b)ix|xeAvzeB)

| B ©{x| xaAnxe B} (d){x].uBAxlA}

P 2 "“% 3
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- - 20 The set buﬂder form of A(NBis equal to

OBJECTNE PART 8

(a){xlxe_&/\xeB}_ B (b){x | xeAv xe By 3
(©) {x | xeAA x & B} - (d) § I xEB/\ X € A}
21.The set builder form of A Bis equal to.. . '
(@) {x llxeAAxe B} (b){x}xeAvxeB}':
, ©) {x | xeAn x ¢ B} ) xeBAxEA}' _
- 22. The set builder form of B - A is equal to o "
© @{x] xeArxe B . (D) {xl xeAvxe B
©@{xlxeAaxe B - (DixlxeBaxg A
23. IfA(IB=¢, thenAandBare . o -
'~ (a) Disjoint sets =+ . (b)over lapping sets
- (©)Equalsets. & . (D E'quivalen,t_sets._‘-'
24, IfFA(NB# ¢ thenAandBare T L ONY
" {a) Disjoint sets - -~ (b)overlappingsets
| - (c)Equalsetss . - (d) Equivalent séts
~ 25. In set builder form Ac is written as -
(@fx ! xeUn xe A} _' (b){xiervxeA}
7 ©@ix ]l xeUa x ¢ A} . (d){xlxeAA xEU} ,
'26. If a set consists of those elements of A which are not in B ;then the set is
(a) AUB (hANB . ((e)A-B dB-A" .
27..Let A and B are two non empty sétsand U be a un_;versal set; thenA B
T (@ ANBe MB-A © u- (d) ¢ -
o 28 IfArIB;‘- ¢ Le setsAandBare chs,]omt thQn(AUB) is equalto
@r@+n® AN On@a®

@ n @) +n @B Ln (An B) () AANBY -
29 1If ANB # ¢ ielgots A and B are: overl.appmg then n (AU B) is -
equalto - W\ T :
(a)n(A)+n(B) S - (b)n(A)n(B) R
‘ (@ n(AY+ n(B)-n(AIB) (d) n(Aﬂ B) .
. 30. IfAc: B, thenn(AUB) 1sequalto RN :
S @r@A) OB - ©n (Aﬂ B) (_d) 0

81. Ich: A, thenn(AUB)lsequalto . o
R _ (@) n(A) b n® ©n (Aﬂ B) ' (d)-O}
' 32‘IfAﬂB : -¢ thenn(AﬂB)wequalto . ";i
(@n) (b) H(B} ©n (Aﬂ B) g (d) 0
- 33. If ANB # ¢ de. A andB are overlappmg sets then n (Aﬂ B)
@0 T @) nd)+n®) WU
(©n (A) n (B) e (d) cannot be determmed -

: ,'34 IfAc: B, thenn(AﬂB)lsequal to N S
@ nA) (b) n(B) ©@n (A) +n (B (d) n(A) n(B) -

g%fnncn%
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| - 35, Ich Athen n (AﬂB) 1sequal to '
._ (@nd) OB (o) n (A) +n (B) (d) n(A) n(B)
_ ,36 If A and B are Dle]omt sets ie. ANB= ¢ then n (A B) is. equaI to.
" @nw T . ®A@®B
o @n@A+n®B)~-nAUB)  @Dnr@-n®B)
' 37 If A and B are dlSJomt sets ie ANB= é, then n (B A)
(@n@A+n®B) - (b)n(A).n(B) "
, (¢) n (A)+n (B) - ‘n (AUB) (d) n (B) - n(A)
- 38.. IfAc B, then n (A~ B) is equal to :

@nA) . (b n(B) . (c)n (Aﬂ B) ~(@o
39 Ich: A, then n (B=A) is equal to o S
@@ © ) B (c)n(AﬂB) . (d)o
- 40, IchAA—B¢¢ -then. n(A B) ' K
@na)  ®a® (C) n (A) - n (B) @o

| _ 41. Which of followmg is true . N .
. @AUg =A. BANg=¢ (©A-¢g=A f(d)"All.of-these B
 42. 'Which of followmg is true RS SR

@g-A=¢ "(b)AUA-*A‘ o
- @ ANA=A - (d) A=A'= ¢ ~ (e)all of these
43. Which of following is true . , I ‘
(a)AUU— . (b)A—-_U—¢ e |
, @ANU=A- | (d)U A=A ~ (e) all of these
44, IfAU_B A, then' , o B
(@ AcB  (BBcA (c)A ¢ (d) None of these
45,  De Morgan's Laws are = T
| @ @UBr=AUB - (b)(AUB)'=A’ﬂBf .
. @AUB=A+B . () @UB)=ANB"
46. De Morgan's Laws are - - R
. @AABr=A<NB: . (XANB)c=AcUBe
C©@ANB)<=AcBc. .. . @ @ANBr=AUB):

47. . The way of drawing conclusmns form a hmxted number of "
. observations is called-
(a) An Inductlon oo : (b) deductlon

(c) proposiion © - .. (d) postulate _

48, The way of drawing conclusions form prermses beheved to be
- true is called : :

(a) an Inductlon ~ (b) deduction:

- (e) proposmon o (d) postulate -
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49,

50,

51.

52.

53.
- 54,
55.

" 56. ._
57.
58.
: 59.
60.

61. .

63,

A statement which is accepted to be true without proof and ueed
to find othér conclusion is called ' : .

(@) AnInduction - (b) deduetion @ . -
(c) proposition . - ~ (d) postulate
Logic iy which every statement is regarded as true or false is called
(a) Aristotelian logic (b) Non Aristotelian log1c
() Proposmmn S © (d) postulate

The logic in which there is a scope of more than two pOSSIblhtles_
is called. o

"(a) Aristotelian loglc _ " {(b) Non Anstotehan 'log1c
(c) Propos:txon ' ~ {d).postulate
A statement which can be decided as true or false is called
- ‘(a) proposition =~ . (b) postulate ‘
(c) compound proposition - (d) truth value =
The symbol which is used to denote negation of'a proposmon is
(@~ () S () IV (d).v R

Hp—oigisa condxtlonal then p is called :
(a)antecedent (b) conclusion (¢) consequence (d conjunctlon
If p— q is'almplication, then q is called :
(a) Hypothes1s (by conclusion (c)antecedent - (d) converee
The symbol which is used to combine proposmons is called

(a) Connective (b)Negation- _
(c) operator . Yy (@ compound proposmon
If p and g be two propositiens, than pa qis
(a) Conjunction i (b) disjunction
(¢) conditional ). ~  (d) Biconditional .
- If p and q be twopropositions, then p — g is
(a) Conjunction o - (b) disjunetion -
(c) conditional” -~~~ (d) Bi conditional
If p and ¢-bétwo propositions, thanp « gis
(a) conjunction . " (b) disjunction =
(c) eonditional E (d) Bi conditional
A compound proposition which is always true is called
* (a) Tautology - . . (b)contradiction
- (¢) Absurdity L " (d) contingency ,
A compound proposition which is neither always true nor false is called _
(a) Tautology .~ (b) contradickion ‘
- (c) Absurdity -~ - " (d) contingency
A compound proposition which is always wrong is called
(a) Tautology . (b) absurdity .
" (c)contingency. = (d) Equivalence‘ '

If p be proposition, then (pv~pis -

- (a) Tautology ‘(b) absurdity - {c) contmgency (d) Equivalence
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If P be any proposmon then (pA pis
(a) Tautology =~ -~ - - (b) absurdity
) (¢) contingency =~ (d) Equivalence
.65_ If~p — q is aconditional, then its converseis - .
@¢—~p Mp - ~ql)~q—>p @d~q— ~p
I~p — q isa conditional then its inverse is, . .- o
 @g>~p ®p-—~q (O~g—=p (@~ q- ~p
67. If~p — ¢ is a conditional then its contra positive is'
@gq—~p (bp—>~q @~¢g—>p @~q—~p
68. If p is a proposition 4< 5, gisa proposxtmn 2 +5=8, than truth

- value ofp AQis
@T- DF - (’c) Ne;ther T nor F (cl) Either Tor F

. 69. Ifpisa proposxtlon 4 < 5 q 1s a propesutlon 2+ 5 8 then truth o

value of PV q is -
s (@T (b)F - (c) Nether T for F (d) E1ther T orF
70, Ifpisa proposu‘,lon 4 <5, q isa proposmon 2 + 5 >8, then truth
~ valueof p — g is
- @T . (b) F 7 {0 Nether T for F (). E1ther T or F
71, . Ifpisa proposn:lon 4 <Hh,qisa proposatmn 2 +5 ¢ 8 than
-~ truthvalue of p «» qis |

. @T  ®F - (c¢)NetherT for F: (d) Elther T or F
*72. For the propoesitions p and a(loA @) — p is '
(a) Tautology = = . (7)" (b) Absurd1ty
(c) contingency . - .~ " {(d) none of these o
78. For the propositions pand g, p = ( pvg)is
' (a) Tautology -_{ )" - (b) Absurdity -
(0 contmgency AR L (d) none of these.

74 The words or svmbols which convey the idea of quantlty or
~ number is| called S D
- (a)Quantifier - . () Negation
o (c) conditional - = - (d) Truth table - '
75. The symbol which is used to. convey the idea of all ob]ects under
- consideration is.called . =~

(a)Universal quant1ﬁer (b Ex1stent1al Quantlﬁer '
: (¢} Universalset. = - (d) Non of these
76. The logical form of (A B)' A"UB is.
- @~@EAp=~pa~qg (b)~(pAq)=~pv ~q
L @=@va=~pveg o @D~@va=~pa~g
71. The logical form of (AUB)¢=Ac ] Beis . -
@~@Ag)=~pr~q (B~ PAQ=~pv ~q

@~@ve=~pv~g (D~Pve=~pr~q
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78.
e 79.
-
81

- 82,
| 83.

3'_4.'

85..

87.

88.

" 89,
90,
81.
92.

. 93.

| 94."

If p and q dre two propos:txons then truth set ot pvayg is

(a)PﬂQ - bPUQ: ©P-@ . @DQ@- VP

Ifp and g are two propositions then’ truth sét of DA qis

@PNQ MPUQ ©P-Q@ ' . (@DQ- P
If p and g be two proposmons, then truth set of p— q is
@PUQ .. MPNQ  ©@P= Q (P ﬂQ
Truthsetof pe ¢ I8 :

‘@PNY, ®MPUQ ©P=a  @PUQ -

If pisa pr_opos1t10n then truth setof ~p 1a : R
C@P o Yy (c) ¢ o _(d)Nope '

_Truth set of a tautology is o o S
e (a)'Uniyersal set (g - ()True . (d) False
Truth set of a contradiction is - o

(a) Umversal set (b) ¢ l(c) True - (d) False '
Loglcal form of AU BNC=AUBN (AUB) ig . S
(@ pv @A =@vg Ar M pv (gan)= (PVQ)/\(PVT) :

@pa(@vn=@ag v pAr) Dpa@vn=@Erg Vv r
If set A has 2 elements and B has 4 elements then number of

(a) 6 " (b) 8 (c)16 ' (d) None of These ,
Every subaet of Cartesnan product A x B is called SR
(a) Relation (b) Functien)  (c) Domain (d) Range.
The empty set { } being the'subset of AxBis~ '~ .
(8) Binary relation. .\~ " (b) Function * .
-{c) Ordered pair -\~ (d) None of these _
If f:A—>B bea func‘,tlon then 1t is ‘an into functlon if
(a) Range=B _ “(byRangec B
(c)Range is not repeated - (d)Domain# A
A functionf+A — B 'is called an on to if ‘
(@ Domainc A. - - . (b)Range c-B
{(c)Range=B N Domam Range o
Afunctionf: A— B is (1—1) 1f '
~ (a) Domainc A~ (b Rangec B ,
(c) Domain = Range " (d) Range is not repeated

.Afunctionf: A—B is(1-1) and onto if
~ (a) Domain= A . (b Range ¢ B:

'(¢) Domain = Range (d)Range B and Range is not. repeated

A(l- 1) functmn is also called ........ Function-
- {(a) Injective: (b) Surjective () Bijective- = (d) Inverse
An onto function is also called ....... Function . - A

- (a) Injective  (b) Surjective - . {c) Bijective '_ (‘d); lhv_erse
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e

- 95,

.96,

97.
98.

- 99,

100.

* 101.

102.

103.

- 104.

105

106.

V107

‘108.

-109..
(a .+ (b)— (c)\/— () o
110.

Al 1) and on to function is also called ...... Function B

- (a) Injective: (b) Surjective (c) Bijective  (d) Inverse _
Inverse of a function Exists only if itis ' o

(a) Injective  (b) B1Ject1ve (0) Surjectlve (d) all of these
The function f={x,y) | y=mx+c}, m & c are real number is

(2) Linear  (b) Quadratic (¢) A circle (d) Apoint
The function f ={(x, y) | y =ax+bx +c, a ¢O} is

“(a) Lmear ~ (b) Quadratlc (c) Acircle - (d) A point'
Inverse of hne is '

(a) a hne o (b) a parabola (o) a pomt (d) not deﬁned '

If y= ‘\/;c x>0 is a function, then its inverse is -

(a) aline (b) a parabola () a point . (d) not a functlon
The function f={(x,y) | y=x}is : _ '
“(a) Identxty funetion : (b) Null functlon
(c) not a function -~ (d) similarfunction

If a set A has 2 elements and B has 3 elemeq;s then dlfferent |
relations in Ax B are . :
(a) 5 T (b) 6 . (c) 8 : (d) 64

If a set A has 2 elements and B has, 3 element;s then dlfferent
functlon mAxBare

(a) 6 “(by 8 (c) 9. (d) not deﬁned N
Ifa set Ahasm elements and B has n elements ‘than relations i in Ax B _
(a) m X n " (b). 2N AOm+n () (m X n)-.
Ifa set S has n elements) then different relatlons IBA
@2n . o2 ©n (@ 2
The Inverse furction of {(x, y) ly=mx+cis L .
@i I@Emy+d .. Oy | x= my+c}
@Dy, 9Nl y=mx} . (d) not a-function
An operation which is performed on a single number is called
. (a)Unary operation .. (b)Binary operatlon
(c)Relation o (d) functmn '
Squaring a number is-
" (a) unary operation = (b) Binary Operatlon
~(©relation - - - - - (d)function .

Which of the followmg is not a bmary Operatlon

"For a non empty set G a functlon from G %G — G is called
(a) Bmary operatlon | '/ L (b) Unary.operation
(¢) Groupled - (d)Binary relation
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111. Any subset of G x G is called

~ (a) Binary operation . = (b)relatmn
| - (e)funetion. . - (d)Cartesian product
112. The set {1,~-1, 1,—1,}13 closed w.rt -
| (a) + (b) ~ o ©x @
113. The set of odd numiber is not closed w. r. t -
@+ - x (e~ (d +&-

- 114, LetS be a not empty set and * is binary operation init, If
closure property holds in S, then S is ' L
(a) Groupied  (b) Semi group (e M0n01d (d) Group .
115. If N is set of natural number, then (N, +) is ' e
: ~ (a) Groupied - (b) Semj group (c) Monoid  (d) Group' o
© 116. If W is the set of whole numbers, than (W, +)is . ~
, . {(a) Groupied  (b) Semi group {(c) Monoid . _(d) Group
117. If Nis set of natu1al number, then (N, x) or (N, ) s -
o (a) Groupied (b) Semigroup {(c) Mcmmd . (d) Group
~118. For a non empty sets S, (P (S), N)is S
(a) Groupied (b).Semi group (c) Mon01d "~ (d) Group
119. For a non empty sets S, (P (S),.U) is™ B o
- .. (a).Groupied (b) Semi group _((c) Monoxd - (d) Group
- 120. IfZis set of Integers, than (Z, })1¢) o
.. (a)Groupied (b) Semi group.) (e) Monmd ' (d)‘ Group E
~121. IfRis the set of real numbers/then (R, +) is' ' 7
. (a) Groupied  (b) Semigroup  (c) Monoid (d) Group
122. If Qis tb set of rational numbers than (Q, - '
. \a)Groupied (b)Semigroup  (¢) Monoid (d) Group
123. If Sis non empt3 set. Then identity element in P(S), w rt ﬂ'

. @ty LS  @{é} - (d) does not exist
~ 124. If 8§ is non ginpty set. Than 1dent1ty element in P(S), w'.r.-t U
(a) { N (b) S L ©f¢ } . (d)does not exist

- 1256. The set of non -zero real numbers w.r{ multlphcatlon 18
| (a)Gr_oupled (b) Semi-group (c) Monoied (d) Group
126. Identity element i in (C, 1) is o _
. @00  ®»O 1y () L0 (d) (1 1)
127. Identity elementin (C,*)is . . .
(a) (0, 0) MmOy - ©A,0 (d) (1 1)
' 128 The set of first elements of ordered pairs in a relation is called its:
~(a) domain - (b) range (0 co-domam (d) relation -
129 If A and B are disjoint sets then : S .
() AUB=¢ () ANB=¢ (©OAcB @A-B=g
If S'{l 2 3, 4, 5, 6} then n(S) equals: - '
(a) 26 _ b6 . @8 - (D-6
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181, IfA= ¢, then P(A) is:
" (2)Emptyset () {0} (o) {¢} (d) none of these

132, The graph of linear funct;on is:. |
" (a)circle. (b) straight line (c) parabola (d) tnangle
188. A system of linear equations involves at least... equation(s):

@l ®2. ©@3 - (@4
-134. IfAcB, then AN B is equal to; T
@¢ A . (©B (d)-A

185, 1fA=11,2 3, B={3 4, then A-Bis: .
@ - BO{L2  ©L4 (@3

136. The number of elements in a set B is 4, the number of elements inPB)

- (a) 16 (b) 12 ©8 (d) 4
137. The number of all subsets of a set havmg three elements is;
- ()4 - (b)6 ©8 - (d) 10

138. Set of all possible sub sets of a set S is called: |
. {(a) equivalent set (b) empty set  (c) pawer. set (d) sub set B
139. Set of integers is a group w.r.t;"
"~ (a) addition (b) mult1phcat1on (¢) subtractlon (d) d1v1smn
140. fis function from A to B. Domain.of fis equal to:
(@) any subset of A MAXxB NA (B
© 141. Every functionisa: = ‘ -

" (a)relation = (b) inverse function
o (c)onetoone . - (d) none of these , |
" 142. Inverse of any element of a group is: o
~ (a) not unique  \“- ~ . (b) unique
~ (c) has. many inverses (d) none of these
Chapter 3 Multiple Choice Questions

(Enczrcle the correct answer chozce)

1. A rectabgular at"ray of numb'ers enclosed b'y a pair of brac_kets is called a
(a) matrix - (b) Row (c) column’ (d) determinant
2. The horizontal lines of numbers in a matrix are called ,
(@) Rows = (b) column (c) column matrix .(d) Row matrix
' 8. The vertical lines of numbers i in.a matrix are called - o
- (a)Rows = (b) columns -(¢) column matrix (d) Row matrix
4. If a matrix A has m rows and n. column, then order of Ais . =
- {a) mxn (b) nxm  (©m +n (d) mn
5. The element aij of any matrix A is present in
(@) i P row and j* column - - (byim column and j ™ row
(¢) (i +) " row and column- - (d) (i - )% row and column
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" 6. Any matrix A is called real if all aijare o _
“{a) real numbers -(b) Imagmarv numbers ()0 @) 1~
7. If any matrix A has only one row ,then it is callecl

(a). row matrix o - (b)column matrix ,
_ (c)Square matrix ‘_ (d)Rectangular matrix
- 8. If any matrix A has only one column, then it is called -
' (a) row matrix - - (b) column matrix
- (c) Square matrix Ad) Rectangular matrix
9. Ifamatrix A has same numbers of rows and column, ‘then A is called
(a) row matrix. (bycolumn matrix -
(c)Square matrix S {(d) Rectangular matrlx |
-10.- If any matrix A has d;fferent numbers of rows and column then A 18
(a) row marnx - (b) column matrix . .
- (¢) Square matrix - (d) Rectangular matrlx
11. Anymatrix of order m x'1 is called '
(a) row matrlx - (b) column matrix,
~ (c) Square matnx ' " (d) Rectangular matnx
12. Any matrix of order 1 xnis called - _ o
© " (a) row matrix . - (b) column matrix ; L
(0) Square matrix © (d) Rectangular matrix -

13. For the .square matrix . A= [@i] » X, "the elements
’ aiy, @G22, (B33 .. Oan are

(a) pr1nc1pal diagonal or. leadlng dlagonal (b) Secondary dlagonal. o

-+ (e) central row - (d) central column :
- 14. For the matrlx A= [ciy]'nn ;the elements
dln, Q2n-1, 03:1-". Oar-3... anl. form . .
(a) Main d1agonal ~ (b) Leading d1agonal
| (¢) principal dlagonal @ Secondary dlagonal -
15, For the square matrix A= [alf: Hfall au = 0 L# J and at-ledst, one :
aij# 0, i = than Ais called , .
(a) Diggonal matrix . - (b) Scalar matrix
(c) Jdentity matrix - = (d) Null matrix .
16. For the square matrix A= {au] If ali a.,, = 0 L#£) ancl all ¢ G = k
~ (non zero) for (=}, then Ais called - S
(2) Diagonal matrin - .. (b) Scalar matrlx :
- {¢) Identity matrix - - (d) Null matrix

1T, If all off d1agonal elements are zeros and at least one of the

- leading diagonal is non . zero, then matrix is called

(a ) Diagonal matrix . - (b) Scalar matrix.
- (o) Identlty matrix " . {(d)Null matnx
18. The matrix [T} s =~
(a) square matrix =~ _(b) Row matmx

(c)column matrix ‘(d)‘ all of these
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19.

20.

-

2

22,
| 23.
24,

25.

If A is a matrix of order m Xn, than the matnx of order nXx n-
.iscalled - o
(a) Transpose of A~ (b) Inverse of A .
(c)Mam diagonal of A (d) Echelon form of A

Two matrix A and B are said to be conformable for addition if

~ (a)number of columns i in A= number of rows in B

-(b) number of rows in B = number of columns in A .
- (¢) rows of A = columns of B (d) order of A = order of B

JIf [05] = A, and [by] =B, thenA Blfand only if”

(a) order. of A=orderof B. (b)aij=bij.i=] only N
© ay=bj @ #jonly)  (Day=byforal i&j
For any two matrices A and B, (A + B)tis equal to
{a) AL+ Bt (b)(A+B) ~ ' () A*Br - (d)BtA+ -
(AB)tisequalto =~ - N
(a) Bt At ,(b)-At B o ©@AB - @B A"
“(hAB)t =

'(a)'kAtBt-;.' (b)kB‘At (c)k(BA)t (d)kt(AB)

Let A be any matrix-and nis an Integer then/A + A + A +....+to
- nterms ' - : ‘
(@) A (b)nA SRR (1) A"— (D (n +1)A

- 26.

27.

28.
29,

- 30.

3L

32.

a
_ For any square matrlx A= l:

Two matrix A and B are conformable for multiplication AB if
(d) number of columns in A =_mdmber of rows 1n B
(b) number of rows in B = nutnber of columnsin A
(c) number of rows in A= ‘number of rows in B
() number of columns‘in A = number of columns in B

If A is a matrix of order m X and B of order nx q, then order of
ABis :
(a) qu (b)an ' (c)mxm (d)qu |
If Ais of order 2x3 and B of Qrder 4x2 , then order .of AB
(a) 2x2" b)3x4 ()4x3  (d) Non
If Ails of order 2><.3 and Bof order 4x2 | then-order of BA
~ (a) 2X2 (b) 3x4 - (o) 4%3 (d) Non

-If AB='BA | then which. is true

(a) A and B are muluphcat,we mvérse of each other |
(b) One of A or B is null matrix
(c) One of A or Bis 1dent1ty matrlx o (d) all of these '

b

J IAI 1s equaf to

. e ~d| 5
(a)‘a;b—,cd . (b) ad b(; ' (c) ac bd (d) bc:_' ad

If A=[-7] ,than JA}is equa’f | .
(@) 7 - () -7 | ' (C) 0 ’ :,'(id)' Not possible
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83. If Ais any square matrix of order 8, than kAl is equal to
(a)lkllAl (b) kI TA] - (DRI A (DA A

84, IfAis any aquare matrixand AB=BA =1.then Bis called

, (a) Additive Inverse ofA ~ (b) Multiplicative Inverae of A
. ~ (c)Transpose of A - * (d) determinant of A -
33. If A+B=B+A=0, than Bis called | '
" (a) Additive Inverse of A (b) Multiplicative Inverle of A
{c) Transpese of A. (d) determmant of A

'_SB.IIf adjoint of A = [,31 -:] Then mntrix Aﬂ |

1-2’] 4 27 . [=4 3 ra 27
w23 el el eyl
‘87.' lfAma _non- singular matrix then A-! k | |
(@) AdjLA (b),A,adj A (c);’g,-‘A- ‘d’mf |

| [A]
88, IfAX= B, thenXisequalto - T\ AN o
| @A!'B - (b E (e)BA‘ | (d) all afﬁheqe -
30, Inverse afa matrix exist if it 8 .\ . o
~ (e)Singular (h)Non-smgular |
* (e) Null matrix | o (d)Reatangular matrix

Whieh of the property does.nethold in matrix multiplication
‘(a) Asacclative (b) Commutative (¢)Clesure-. (d) None |

41, Let A= [ay] be & squarematrix and M is the determinant

obtained bydeleting zﬁhrcw andjﬂ‘ column of A, Then Minor of
e isequalte , - |
: (8) My ®A=DH M (0) (=1 M (d) (=1 )‘*,Jdu
43. Let A= [aj] be a-square matrix and Mj is the determinant o
ebtained by dejeting ALY andj th eclumn ofA ‘Then cefaetor -
of gy is equalto . :
| - () My . () (ml)’*iMu : (e)(-l)UMu g (d) (-I)I*Ja,, o
. 48. For any square mattixA it 13 always true that .

(A)A'A‘ (b)=f\§A (ﬁ) IA| u|At; (d)A"‘l%

44, For any triengulay matrix A, 1A} {8 equal to
(a)Produet of leading didgonal clements
~ (b)Bum of leading diagonal élements
* (6)Predudt of secondary diagagl elements
(d) Product of haﬁh diagenul elements -
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48, If all entries ofa square matrix of order 3 is mulmphed by k

then value of |RA| is equal to 7
(@) ikl Al k1Al @A (d) k? {A]

48. For any non smgular matrix A, It is true that

@A =A (B [Al=A (¢)(A™)r=(AY=1(d)Non

a 47. For any non smgular matrix A, It is true that | ..
@AD" 1=A  ()AY'=A (@4=A  @Dallofthese

4

48. For any non —singular MatricesAandB itis true that . .

(a) (AB) "' =B"1 A7 (b)) (AB)t=BtAr -
" (@ABw=BA ' (d) all of these :
- 48, Asquare matrix Awv [au] for- whmh all ay=0,i >/ then Alscalled
 (a) Upper Triangular - (b) lower Tr:angular
()] Symmetric | S (d) Hermition
50. A gquare matrix A= [tm] for which all aj=0,1 </, then Aiaealled
| (a) Upper Triangular =~ (b) lower TriangGlar
- (c) Symmetrie ’ (d) Hermition
81. Atriangular matrix isalwaysea = o>~
(a) Diagonal matrix. ~ ~~  (b) Sealat'matrix
(¢) Square matrix - - (d) allof these

53. Any Bquare matrix A s called a singular is SR
@Al =0 (b) |A] #0 . . (9 A‘aA o (d) AATIs]

‘53. A non empty set Fis called’ ﬁeld if

(a)Fisa anabelian group under'+' _
~ (b) F= {0} is an abelian group\under** . . |
(c) ‘Right distributive property holds © . (d)all of these

B4. Which of the follcwing sets ia a ﬁeld : L '
(&) R b ()] c o @ all of these
58, Which of the following sets is not afleld ;
(@R ) Q . - @cC . (@ z

| _‘56. The system-of linear Equat’tons involving ‘the same vambles

are equivalent if they have
(a)Number of 8quations = Anumber of vnrlables (b)same solutions '
(e)different solutions - . (d)inﬂnity many selutions, o

B A square matrix Als symmetria if

(a) At = A (b)AE = -A (e)(A)“lA (d). (A)‘!.mA-

. 88, A square mateix Ais skaw symmetrie if

(A=A . (b) Alm =A (ﬁ)(A)‘!A (d) (44)"=A~-

| 89. A square mtz'ix Ais Hormitian i¢ ~

(@) At =A - (b) ‘At # = A (e)(A)*aA (dHA)*- A
80. A square matrix .\ is skew: Hermman it :

 @A=A () At=-A (mtA»sA (4, (iye —A'-'
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61. The main dxagonal elements of a skew symmetnc matnx mustbe

(a)l | S (o - |
- {c) any non-zero number : (d) any complex number
62. The main dlagonal elements of a skew- Hermitian matrix mustbe
(a) 1 o o -
. (c) any non zero number ' {(d) any complex number
63. In echelon form of a matrix, ‘the first. non zero. entry is called
(a) leading entry =~ - (b) first entry -
. (c) Preceding entry o (d)Diagonal entry
64.. The additive inverse of a matrix exist - only if it-is
 Aa) smgular o ~ (b).non smgular
. (Anull matrix SR (d)any matrix of order. mxn
" 65. The multlphcatlve mver se of a matrlx exist only if it is
' (a) singular . ~ {b) non smgular ~ |
(c)null matrix (d)any matrix of order mxn
o e @0 ‘2 3l - |
- 66, If = -+ | then
C 0 7 11 -9 o

(@) a= -3 (B) a-*b'- © -a—l-“ (d)’"d'—-;—-l'

67. The number of non zero rows in echelon form ofa matrix is called

(a) orderof amatrix ~  (b)Rank of'a matrix -
-~ (cleading - o (@leading row
- 68. If Aisany square matrix then A+Avisa
_ (a) Symm_etnc E (b)skew symmetnc
" (@Hermitian - N7 (d)skew hermitian
69. If Ais any. square matrix t;hen A-At isa
* (a) Symmetric - NS (b)skew symmetric
o (c)Hermitian ON (d)skew hermitian
70. If A is any sguare matrix then A +H( A)t is a
' (a)ySymmetrie = - (b)skew symmetric
(©0Hermitian (d)skew herm1t1an
71. If A is'any square’ matrlx then A{A)risa
(a) Symmetric A - (b)skew symmetrxc
- (¢o)Hermitian . - . (d)skew hermitian - o
72. If Ais symmetnc( skew symmetrlc) than A? must be '
~ (a) singwlar . . ' “(b) non- singular’ -~
- (c) Symmetric o (D) Anti symmetric
73 In a homogeneous system of ‘linear equations, The solution (0,0;0) is
- (a)Trivial solution - -+~ (b)non trivial solutmn
(c)exact solution - . (d)Non :

74 If AX=0, then X= . S N
@l - O . (@A (d) not possible
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| "75 Ifa system of hnear equations have no solutmn at a]l then 1t is.

" ‘called a/an -
(a) Consistent system ' '(b) Inconmstent system
(c) Trivial system - - (d) Non Trivial system

76. The value of A for which the system x+2y = 4 Zx +Ay= —3
‘does not possess the unique. solution

(a)4 - by -4 - {c)x4 (d) any real number
77. 1fthe system x+2y= O 2x+ .-1 y= = 0 has non trivial solutmn
' theniis _
(a4 _ (b) -4 (c)_:l: 4 (4 any'real, number
. 2x+3 1 1+x .1 PR -
78, If , th =
L e
@3 -3 (©4 0 (D4
79. The cofactor Azzof (-1 2 5 |is
'_ o .071'-1‘ o o
(@0 -1 @ (B2

80, IfA=|ay)sxs,then IsA isequalto:( )" :

S @A (A (c) Not posslble (d) A . \

; 81 If all the entnes ofa row of a square matnx A are zero , then
Al equals: o K o

. (a1 ®-1 (~c)0 - (d)-\AI

4
* ’OI 0=>x equals

(a)2 (b)an" . (@6 ' (d)8 oo
88. - The inverse of unit matrix is: ' |

- (a) unit  (b) singular (c) akew- symmetnc (d) rectangular
84. Tranapoee of a row matrix is:

(a) didgonal matrix . . (b) zero matrix
. (c') column matr—ix N . (d) scalar matrix
o Cha ter 4 o Mﬁltiplé Cholce Queitions

(Enelrcle tlw correct amwer chpice)

L Th@ equatmn axi+be+9=0 will be quadraﬁc i#
(@a=0,b= 0 (He=rd
(asb=0 | " (d) b =anyreal numbar
- 9. solution et of the equation ¥ =4x+ 4= 0 iy a
o @1g=8  byia (e) {—2} - (d) { 4,= 4}
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o 3. The quadratlc formula for solving the equauon axl +bx+c=0is (a:# O ) :' ,

: (a)x*—bi@" _(b)x=fb=*=-“-—"“—_“

4 To convert ax+ bx» + c=0 (a :t 0 ) into quadratlc form the .
_ correct substitution ‘

{@)y=x». -~ (®)y= o (c)y xn (d)'y-llx" '
5.. The equation in which variable quantlty occurs in exponent ‘is called
- (a) Exponentional function (b) Exponent ional equation -
. (¢) Reciprocal equation - ~ (d) quadratic equation
- 6. To convert 4 #x+ 4 == 10 mto quadratic, the substitution is -
' (a)v 41 (b)y 4'*‘. (c)y 41 o (d)y—4-

' 1
7 7. The equatmn whlch remains unchanged 1f x is replaced by = then

1r, is (alled

(a) Exponentional funcuon . (b) Exponent 1cna1 equatxon
~ f¢) Reciprocal equatlon o (d) quéadratic equation '
8. The equations mvolvmg radical expressmns of the variabie are called
* (a) reciprocal equations (b)xadical equations
(c) Quadratic equations (d) exponent ional equatlons' -

- 9. The roots whlth %atisty radical free equatmn but not rachcal
equation are called ). :
(a) Extraneous roots . =\ (b) rad1ca1 xoots
~(cyoriginal roots -~ \\.J ° - (d) exact roots

'10. The cube roots of unity gre -~~~ .

—l+l\/_ 1"+.i~/§ o ~1-‘:x/§ 1_1-_:\/5 |
(a) - : . (b) 1: i Rt
- 2 2 2
n---pm/" =i Y
_(c) 1, o -(d) 1 —
o2 T2 ,2 2
. 11 The cube roots of ~] are '

1+1\/_ 1-;f --1—1\/~ i;»i\/i_

@ 1, - B = 2
o 1+z\[5 ‘l—-e:«/- | (d) _1 1 :J_ —l+z\f_
e 2 | , 2_ 2
12 Sum of all cube ronts of 64,is S
C@o o Tt @m -1mpm,
- 13. Product of all. cube roots of ~11is. N

@o e @ ..;(d)Nén-
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R T

1.

© 21,

- ,
. (a) Additive inverse - {b) equal to ,-(¢)square of (d) Non'
- 23.
24,

5 25
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160t +16a8= =

14. - : U
' (a0’ S (b) -16 - (e) 16 . o d -1-
. —lfi"\/—_- )5‘4— (-—1—\/_ -3 )5 is‘:équ-al to S
L@0 ®32 . @-32 .  (d-1
The sum of all four forth roots of umtv is o
. (a) unity ®o @ —1. - (dNon
17. f,The product of all four forth roots of umty s
o< (a) unity MO0 (e -1 © (d) Non
' 18. The sum of all four forth roots are 16is . . . '
(@16 (b - @0 . @1
The _Prpduct of all four forth‘ _roots of81is -~ =~
- (a) =81 s - @0 . 1
20. The complex cube rodts of umty are ...... each other - ¢, (
- (a) Addltwe inverse of f ‘(b) Equal to each other
{c) Conjugate of each other @ Non of these , -
'The complex cube roots of umty are....... each other .
" (a) Multiplicative iaverse of each other (b) Reciproea!l of each other’
" (c) Square of each or,her - (d)all of these

The complex forth roots of unity are ... efich other

If sum of all cube roots ‘unity is equal to_a? + 1, than xis equal to
- (a)-1 (b) 0o - - (e)£i @1 o _
If product of all cube roots of unity is equal to pt+1,thenpis -
(a) -1 M0 () @=£i- @1 ' -
The complex forth roots .of umty are ..... each other
(a) Multxphcatlve lnverse . (b).complex conjugate -
" (c)Additive - 1nverse © (d) all of these

.The expression: a x 4 g1 xv1+ 01 x4+ ao. an * Oisa polynom1al :

. ofdegree n, if.nls any

27,

29,

- 80.

(a) Integer~, . . (b) _non‘- negative integer
(c) Posmve Integer - {d) Real number |
The expresston X’ +-—1——3 1s S ‘
S ‘ .
*(a) polynomial of degree 2 * (b) polynom1a1 of degree 3
.(c) polynomial of degree | S (d) not a polynomial =~ :
If f{orvisdivided by x—n then Divided = (DlVlsor)( )+Remamder
(a) Divisor (b) D1v1dend (c) Quotlent co(d) Flay
If f(x) is dlvxded by x-a ,then ‘by remainder theorem Remamder is
C@f@ O f(- a) . (f@+R  (dxi-a=R
The . polynotmal (x-a)is a factor of f(x) if and only if |
@f@=0 (b)/(a) =R- (c)quotient=R (d) x= -a
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31. X~ 2 is a factor of Jnc'2 kx+4 1f_ki-s-"

- (a2 (b)) 4~ (¢ k=8 : {d)*-4
32. If r—-—2lsarootoka4 13x2+36—0 then k= |
' @2 (b) -2 ©1. GRS
33. x+ais a factor of » tar when nis _
© (a) any integer ..~ (b)any positive 1nteger ‘
. (cyany odd integer (d) any real number g
- 84. x-aisa factorofx'-o* ,if nis - L
‘(a) any integer - - (b) any posn;we integer ° - -
_ ~ (c) any odd integer " (d) anyreal number =
- 85. Sum ofroots ofax* gx c-— Ois (a #0) .
. i | S e
L @ e et eF
- 36, Productof ax* - bx -Cc= O1s (@ :0) &
| | -b ke
‘ (a) b | (b)—" (0)“‘ S ) e
- 31. sum of roots of any quadratm quadratm i9 ot
| - coefficient of x? ' coefficient af x
 coefficient of ‘x coeﬁictent of x*
(c) __coeffiant_of x - - @ constant t_'.erm
| " coeffciant of x¥* coefficient of »*
88. _Product of roots of any quadratlc quadratlc i8 ,
a coefficient of (x> . coefficient of x
coefficient cof v x ,-'co'qﬁciemf of x’ -
'_ © _ coeffiant of x - d-' constant term =
L coefféiant of x* . - ( : coefficient of 2=
89, If sum of roote of 7x“'+ pi=-q=0is 7, then p = .
- @I 49 . . (©0~-49 @.q
40, If product of roots- of T3 ~px+.q= 0i is lrthen g="
' )T - (b) - P A 49 .
- 41 If 2 and -5 are raots ofa quadratzc equatmn ;thén equaﬁon is -
. (a)w-8x-10=0 . , (D)¥-8x+10=0 \
() a8+ 8x=10=0 (d)ﬁ*3x+10-=0 L L
42, 1fSand P ere sumand produnt of roots of g quadratic eguaticn.,a_ .
,then equation is e, o by g
(@) B=Sx+P= [ (b)x“*Sx*P= ', )
() ¥+ 8x-P= «0 (d) 2~ Sx~ P=o’

4, ifa and ﬁ ‘the roetﬁ of 3 - 23@*,4‘0 then Vﬂlﬁe of az* 6,.7,_
(a)g Chy o @t <d)f_ B
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44.

45.

. 46.

47,

" 48.

49.

- 50.

‘ 51.

52.

53.

'54

55.

.If D andq are. t.he roots of 8x2— 3x .16 =0 theén bq is equal to

@2 - - ®-2 - - (Jp+q  (d)None

Ifax2 + bx +c= 0, then discriminant is

(a) \f b%—4dac (b) \} b2 + dac. (©) b2=4ac  (d) b2+ dac o

If roots of ax?+ bx+¢=0, (@ #0) are real ,then
(a) b2—4ac>0 S () b2=4ac<0
(o) b2~4ac#0 - ' - () b2—4ac<0 -
‘The roots of ax?+bx+c= 0 are 1mag1nary, if
(a) b2—-4ac>0 - (b) b2~4dac<0
(c) b2-4ac=0 = = “(d) b2—4ac#0
The roots of ax? + bx + ¢ =0 are equal , if
“(a) b2 —4ac>0- - (b) b2—4ac<0
© b2—4ac=0 (d)b2+4ac-0
If discriminant is positive and perfect square, then roots are
(a) Real & distinct - .(b) Imaginary &distinct =
" (c) Rational & distinect =~ (d) irrational and dxstlnct
If diseriminant is positive and not pérfect square{then roots are
- {a) Real & distinct - (b) Imaginary & distinet
(cy Rational & distinct” ~  .(d) irrational and dlstmct :
If diseriminant is negative , then réots are '
(a) Real & distinct (byImaginary & distinet .
- (o) Rational & distinct = ~(d) irrational and dlstmct
If diseriminant is Zero then roots are - .
(a) Real & distinet ) (b) Real & equal o
"(c) Rational & unequal \,*™ (d) None of these -

The roots of 2x2— bx+'8=0 are imaginary, - if
(a) b2< 64 (b)'b*>64 . (c) b2=64. db=+8
The equation of the form ax2+bx+ c=0whereg,b,ceR a #0, is called
(a) Reciproeal equation (b) Quadratic equation _
(c) Exponential equation (d) polynomial expression
Quadratic-equation is also called S p
(a) 2nd degree polynomial equation’  (b) Polynomial expression -

" (c) Radical equation ~(d) All of these

56.

57

‘ | ‘58}7

- 89.

- Degree of Quadratic equation is -

a0 - (b) 1 (c)2" - . (d) None -
Graph of quadratic equationis - L _

(n) Straight line”  (b) Circle = - (o) Square (d) Parabola -
Basic techniques for solving- quadratic equations 1slare . '

@ 1. - - (b2 . @3 - 4 :
To sq}ve ax? + bx +¢ =0 where a, b,c € R& a#0 ,wecanuse
(a) Factorization 3 . (b)Completing square , -

- (o) Quqd_ratlc formula | (d) All of these -
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60. Theequatlonoftheform (x+a) (x+b)(x+c)(x+d )"-k' - ,
' Where a + b =c +d. , .can be converted mto - - ' -

(a) Reciprocal equatmn. ‘_ (b) Quadratic equatlon -
(¢) Exponential equation - (d) All of these
~ 61. For any ne Z, CUH is eq_'uivalent_to oneof " R
 @Le.0  ®e.o  ©l 'a} D1, @
62 o+ 0¥ 1= | R
@0 ;1 @-1 7(d>*“."

-63. Four forth roots of unity are
| -1+ 1J— 1

(a)+l" { (b)O w'ajz‘ ()1 5 2 0. (d)Non-.'

64, Synthetlc dlmsmn is a process of

(a) addition (b) multiplication (¢) sobtracuon (d) diﬁoion‘_

- 65. x2+.x—.6 = 0 has roots:

@Real () Equal  (©Complex" (@) Trivial -

. 66. Roots of _equatlon x*+2x+3=0are N 7 _
' (ayreal (b equal ' "{c)rational '(d) imagin-ary -
67. If the roots pa®+ gx+ 1 =0 are equal then:

@g*+4p=0 (b)p*+4g=0 C)¢*-4p=0 (d)p2-4q 0
68 A quadratic equation Ax? + BXx+,C=0 becomes linear equation if:
@C=0 - A= 0 /) (c)B. 0o . (d)A B C

'Chapter 5 O Multiple Chaoice Quos'tions" ﬁ

(Encu*cle the correct answer chowe)
1. An open sentence formed by usmg sign of ‘="is called a /an

(a) equation®  (b) formula (c) Rational fraction (d) Theorem
2. If an equation is true for all values of the variable, then 11; is ealled

" (a)a condltlonal equation ©~ ° (b)an identity
. {c) proper rational fraction " - - (d) All of these =~ =~ - .-
8. If an equation is true only for partacular values of the variable, then it 1& B - '
~ (a) a conditional equation (b) an identity N
(c) proper ratmnal fraction. = (d).a formula
4. (x+ 3)(x+ 4 = x2+ Tx+ 12 1sa/an |
(a) conditional equation o - (b) 1dent,1ty ]
.~ {c) proper fraction o . (d) Linear factors - -~
5. sin?@ +cos?@ isa/an S . '
(a) conditional equation - (b) identity

N ({.) proper fractxon e ) Theorem
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6. To express a single ratlonal function as a sum of two or more
. single rational functions is called-
(a) partial fractions ~ (b) partial fraction resolutlon
(o) proper fraction . ' (d) Improper fraction
7. When a single rational fraction is expressed as a sum of two or
" mare single rational fractlons then each single fraction is called

(a) partial fractions.  (b) partial fraction resolution
: (c) proper fraction’ - (d) Improper fraction
8. The value of g, when (g+b)?= g+ 20b + b%is an identity
(a) an. 1n@ger only | “(b) any real number
) only pOSItIVE number - (d) carinot be determmed f
Ti7x 3x '
9 If , | = 7xp—6x3_1s a/ an
2x* . p L . _ ) .-
(a) equation (b) identity - (c)determmant (d)Non :
10. The quot1ent of two polynozmals p(x) , q (x) % 0 18 called :
. g '
. (a) Ratlonal fractlon - (bAn 1rrat10nal fractlon
(c) Proper fraction =~ = (d) Partial fractlon -

p(x)

o q(x) - ' .
(a)degree of plx) < degree of q(x) ; (b)degree of p(x)"' degree of q(x)
- {c) degree of p(x) > degree of p(x) (d)degree of p(x) 2 degree. of q(x)

. 12. A fractlon )
- q(x) -
(a) degree of p(x) < degree of q(x) (b) degree of plx)= degree of g(x)
(c) degree of p(x) <degree of p(x) ' (d)degree of p(x) > degree of g(x)
-13. A mixed form of fraction is ‘ I . :
(a)an integer.+ improper fraction
(b)a polynomial + 1mproper fraction
(c) a polynomial + proper fraction
: (d)a polynomial + rational fraction - ‘ -
14. When a ratnonal f.ractmn is separated mbo partial fractmns then Result is

A fractlon

is a proper fractmn 1f

is an 1mproper ratlonal fraction 1f

always S
(a) a conditional equations I (b) an identity
(c) a partial fraction - . .- .~ *. - (d) an improper fraction

15 Thepartlalﬁ'acuonsof x —10x+13 . spe of the form e
. (x- l)(x -5x+6) :

(a) A BseC DoEr ) A, B C
1 x-3  x-2 cox-1 x-2 x-3 -
Q) Ax+B . C _ -~ - (d) None of these'

- ox=l K -Sx+6
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16. x' —=5x;+ 7 : A R :""_A"" ------- :

| (x—l)(x'—l) x=1 R . _

8 ,C B _C DitE
— : +—

..()x 1 - (b)( x—1)° x+1 (C)x-l x+1 '.()'Jc2 -1

oy
_ , x(x+1)(x -l) , -
@2 (b) 3 . @4 T - (d) none of these-
X : .
| x(x +1)(x° -4 s
, (.a)3.'_ 4 ©) 5 . (D6
. _ L , v |
e pum ! mot 5 =t are - 7 _
(a) 1 L (b)'_'2 S @8 '_ - (d) none of these
20. If, Tx+25 4.2 ‘_ then B is equal to

| (x+3)(x+4) ,x+3 x+4 7

@3 -3 @4 (d)-4 |
o X M3 4 B O then Clsequalto
- =5x+6) x-2 . x-3 x-1
@2 . 3 @4 (.d)—4. -

If rtx ox-3_ £+8 +C , then Ai.secju'alt;o'

. x(2x+3)(x l) xoN2x+3 x-1 -~
@1 2N ©x _ (d) none of these

23. Partlal fractions of x_ﬁ-l_ are of the form .
: 7, o (x- l)(x+1) T - .
@+ B -+ 'i (c>1+i+—B—f @1+ A+ B

- x =1L x=-1 x+1 cooox=1 x+1 x? -

‘24_.'If . .3 — = 4 + B+ C % Ds, thenA-'
'(x+1)“(x'—1) -1 x+1 (x+l) (x+1)"

@5 & - @ @

-25 A quadratlc factor which can not. be wrltten as'a product of hnear
factors with real coefficients is called .

17.-The number of partlal fractl,on of

l 18 The number of partlal fractlon of

19. The number of_paft_iél fraction of

22.

- (a)anirreducible factor - (b) reducible factor
" (c) an irrational factor .~ (d) an improper factor
26. Which is a reducible factor - - -

(@ x-6x2+8x (B)R+16x () +5x°6 (3 all of these
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27, ‘Palrticle fraction of ——— = .-

PR I . 1 l |
(a) F— . (b= -
S 2Ax=1) 2(x+1) o 2(x=1) 2(xtD)
(0) (d) B - .
2(x 1) 2x+ 1) oo 2(x-1) 2(x+1)
- |
28 Part1a1 fractlon of +; w1ll be of the form
A B ' .A . B
| (a)'x—l xex+l (b-)-x'-i-l‘ x-x+l
(c)' A . Bx+c @ A ~ Bx+c
| x+1 x -x+1 N x+1 x —x+ 1
| _ 29 Number of parual fractlons of the fractlon 1) afe':‘ i
TN :
@1 - . ™2 ©3 AN De
30 Cond1t10nal equatlon 2x +3=0 holds when x is equal to:
(a)“—'_.' (b) o ()3 | (d)_l,

(x)

31 The quotlent of two polynonuals Q(x) # 0 w;th no common

factor is called

(a) algebraic relatlon ' _’(_b)l rati_on,al"' fractioh j
(c) partlal fractlon o (d) polynomi_a'l '
32. The partlal fractlons of S S are:.
‘ (x+1)(x 1) f -
(a) N
Z(x 1) 2(x 1) 2(x+1) 2Ax-1) .
1 o 1 1
() 2(x 1) 2(x I) () '_ 2x+1) 2(x-1)
Chapter 6 o Milltlple Choice Qﬁestlons o

L (Enczrcle the correct answer cho;ce)

-~

1 An arrangement of numbers accordlng to some deﬁmte rule is called
(a) Sequence (b) Combmatmn (©) Serl_es (dy Permutation -
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2. A sequence is also know as -

(a) Real sequence -(b) Progressmn o
_ (c) Arrangement < “(d) Complex sequence |
3. A sequence is a function whose domain is set of -
' {a) Integers (Z) . ~(b) Rational numbers (Q) '
"~ (e Natural numbers .- (d) real number ‘ _
4. A sequence whose range.is R i.e set of real numbers, is called
| (a) Real sequence . - (b) Imaginary sequence ‘
- (¢) Natural sequence - - (d) Complex sequence
5. fax={n+( 1)n}, thenaw= ~ - . ' - |
@10 - ®Y : )11 (d) nane of these o

6. The last term of an infinite sequence

- (a) isp th term (b)1s an (c) isgeneral term (d)dose not exlst
7. The next term of the sequence 1, 2, 12, 40 .. : ‘

‘ (a) 112 {b) 120 _ (c) 124 - (d) none of these
| 8_.'.If an Gn :—n+1anda4 14then as=. . . ‘
@3 b5 (€14 (d) 20
9. Ifan*-nan 15 a1=1then g4=? -
(@) 6’ _ (b) 24 . (c)110 - (d) 660

- 10 A sequence {an} in Whlch ar—an 118 the same number' for all ne N, _

n >-1, is called : '
(a) AP . (b) G P (c) H P (d) none of these

11. If {a»} is an Arithmetic sequence then common dlfference 18
' {a) an+1 ay l o L (b) An+1 O :
(C) n - @n+1 ‘ / (d) On 1 au-!-l L e N, ‘n'> 1
12. The * :uceral term ofanAPis . - -
(@) an=a+(n-1)d\ - (byas =a-(n-1Dd

(C)an—a+(n+1)d ' . (d)an=a..(n+1)d
13. If a»= 5 ~3n.+2n2, then am= -

(a)5 —6n +2n2 "~ (b)5-=6n+4n2
 (¢)5+6aFunt L (d)5- 6n+8n~
14, 1f ga 2=8n— 11, then an= - _ o
 @3n+5 (®M3n-5 - (c) 3n-9 (d) 3n 13 '
. 15, If n*h term of an AP is 3n — 1 then 10t term is
(a)_9_ , (b) 29 ©12 cannot be determmed
'16. nth term ofthe serle_s —{ Pl | =1+ =]+
S 66 TG T
(a)(2n3 1) (b) (2n3+1] (c) ( ] -(d) cannot be determined

17. If Gn 1, Gu ane1 arein AP, then an is called S
(a) AM - (b) G. M  (oH M (d) M1d pomt

L
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18 Anthmetlc meéan betweencanddls T
- c+d ¢erd o 2¢d 2
RERE (a) ) (b) ch (C)C+d ‘, -:(d)c._g'.dl‘. '
L s 19- Ifﬂn lau, a:mare InAPthen Gn— o 7 " o ‘ -. ’ .
o n =14 Qi am'l- w1 N . Gn-1. QGn+l
( )aj L “a “}- (b) } 1,20 l (C) anl ‘ an l (d)an l 2 :

20 ’l‘he Arlthmetlc mean between \[ﬁ ‘and 3\/:‘2 is

(2) 4\/' M) \/5 © V2 (d) none of these 3 )
- 21_ The sum of terms of a sequence is called ‘ o
, (a) Partial sum (b) Series - (e) Finite sum (d) none of these‘ .
. 22 Forth partlal sum of the sequence {n%is = - - .
. (a) 16 (b)1+4+9+16 8 (d)1+2+3+4‘
23 Sum of n term of an Anthmetxc series S. is equalto Co
B (a)‘ [2a+ (n» l)dl -.; : (b) [0+-(n -1dl
(c)2[2a+(n+1>d1 - (d)2(2a+l) |
24, Sum of n term of an Amthmetlc series in Sais equal to

+a'l .
(a) 2 (a1 +an ) b = 2 @=1" © ‘"2 (d) n(ax+au)l

‘ -. 25 For any G. P the: cemtron ratio r wequal to

W (b)"_';;‘_f ('c‘)';"’—’l | (d)a“.-a,. for neN, n>1
26. NotermofaGP is(y Lo -
@0 - MANY © negat:ve (d) i'maginery number . .

27 The general termof a G Pis |

. | ~ (a) Gn = ar" ¥ (b) an = arﬂ _(c), _a;'_="df' “‘*‘_f 7 (d) -Qn. =
"28 If a, G, b are ln G P Ehen o | | o
L @8=ab ) G=2\ab ©G=23
. \""_.29 Ifa, G, barein G. P then G is called B |
| (a) common ratio” - o (b) Geometric mean

. - .. (ccemtre: . {(d) Geometric series
h 301f Gy, Gz, Gs ..., Gu be Genmetnc means between a and b, then G=

®) (GG,.....G )~

r -1

. Zab "
(d)G— raes

L@ GGy . Go .
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31. Sum of n term ofa geometrlc series S, is equal to

(a)M @)M ( )M (d) ar" 1 for r¢ 1 |

" 32. The sum of infinite geometrlc series is valid if .
@ Irl>1. ~ ®Irl=1 (0) riz1 @ Irl<1
33. For the serles 1+56+ 25 + 125+ + © the sum is

(a) . (b) 4 (c) 5ﬂ (d) not deﬁned
34. An infinite geometnc senes is convergent if -
o @lrl>1 o G Iri= () Irt 21 (d),lrl‘<1
35. An infinite geometric series is Dwergen!: if
'(a)i-r|<1 D lri#l (c)f"' (d)|r|>1
36. If sum of a series is defined, then itis called = -
. (a) Convergent series = - (b) Divergent series ~
" (c) finite series . . - (d) Geometric seriés™
87. If sum of a'series in not defined , then it is called: *
(a) Convergent series | (b) Divergent series
" (c) finite series . (d) Infinité series

38. If the series g + xf + %} +...i8 convergent then |
@lxl<2 ®Ix|<1 (c}0<x<2 (d)IxI>2

39. if the senes g x+3 3 x + 287 B+ 408 Dlvergent then

(a)l xl<1 (b)3|x|<1 (C)le>1 (d)|3xl>1
40 The mterval in Whlch series 1 + 2x + 4;:1:2 + 8a8 +.. 1s convergent i8

(a)-2<x<2 (b)— <x<% (c)}2xl>1(d)lxl<1

41, If the reciprocals.of the terms of a sequence form an A.P, then it is

(a) Harmonic sequence - (b) Anthmetlc sequence o
. (c) Reeiprocal sequence (). senes
42 The nth term of ; ; ; ' | | | .
@3-1T ® 3"",1 @2+l DT
43. General term ofan HPis. o -
. o 1 - o 1 ,
@a=TTwwwd . Oe=0GTma

: (c)a.;:;:—nd . @a=a+(n 1)d
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- 44. Harmomc mean between 2 and 8 is
(3)5 (b)5 h (C)ﬂ:‘l ) (d)lﬁ

If A G, and H dre Anthmetm Geometrlc and Harmomc means
between two positive number, then -
(a)G:=AH o (b)AGHaremGP
| (©@A>G>H = - (d)allofthese : ,
' 46, IfA, G, and H are Arithmetic, Geometric and Harmonic meane \
between two negatlve number then '

(a)Gt=AH “(b) A, G, HaremGP
©A<G<H ©(d) all of these

47. If a.and b are two negatwe number, then
(a)A<G<H R (b)A>G>H
©A=G=H - - (d)A2G2H

48. If a and b are two pos1t1ve number , then’
(@)A<G<H - (b)A>G>H
eA=G=H .  (DA<G<H-

49, 7 Ifa and b have opposite e1gns then Geometric mean 1s _
(a) an imaginary number (b) non zero real number

_ (c) Real number = (d) Negative . =~ =
o n+! nel 7 S et .
: 750 If < a":gn_ is AM betweena&‘bu, then nis equal to
wo - wm-1.%1 @}
51 If ;",;g'{—:"g,;—{lsGMbetweena&b then nis equal to |
@o  (w-1 @1 (cl)2
n+l 4 ¥l | IV
1 ﬁ 1sH M betweena& b, then n is equalto
@0 ®-1" @1 @p
88, If a, ar¥, ar‘f formaG Pthen ; ;.g ai'*
(e)enA P ‘  (aGP . .
(anH . P . (d) a ree;proeel sequence -

'-54;2nisequelte , SR

" Aab.Zniieequelte i b S
) ()ﬂ’@ (b)n’ . 2?‘%‘ ()M (d) ne
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- 56. Z nd is equal to : . | T
n!n + 1! (b) n(n + 1)(2n +1)

2(n + 1) 2
@ ()“(" 1’ (d)M
57. IfS, = (n +-1)2%, then Szu, 1s eqnal to R '
S (@y2n+l . : (b)4n2+4n+1 ‘.
: - (©) @n- 1)* Lo (d) cannot be’ determmed
‘ 58 The sum of n A Ms between a & b is: equal to . -
{u + b\\ { o +
(a) n‘ 3 ) e (b)n(a b)
: (c)n[a-i-(n Dd]- ' (d)a+(n I)d
'59. The sumof 5 A Ms between 2&8is .
| a) 25 (b) 50 Ac) 0 (d) 10 o
" 60. Ifboth x & y are +ve distinct real numbers, then the G. M. between i is .
" (a) less than their AM. .' (b) Equalto A. M. =~ A0 7
. "{c) Greater than A.M. - (d) None of these ‘ ];-‘ -
' 61. The numbersa ~d, a,a+ d are in A
(a) arithmetic progression  (b) geometrm progressmn '
.(c) harmonic progressmn . (d) harmomc series,
62. _If lr) < 1, then, 8, = S : :
( y ad-r) a,(l r'y - () a,(r: I)'. (e)‘c.z(r 1) (d) a,(l r -
. 1-r . A=r. . - 1 oore 1
63. With usual notatlons AHequals> ~ - -
o (a) Az (by H @G (d)+G2 o
64. If a,, =2n+], then ax is equalto ' T
(a) °n +3 @2n-3l ©2-1 @2+l
65. With usual notation nth term of APis L B .
- (@) ar=m +(n+‘1) d ) (b)an=a1-(n—- l)d S
©@an=atam \ + - @ an_=..a1_ *(n~- Dd -

. 66. G, Mbetween 2 andS is: 7 .
. (a)4ior=2% (b)4or-4 (c)lﬁor—lﬁ (d)30r—5‘
67. H Mbetween -2 and Sequals _ _ |
| | (a)ﬁ- () .. () L“'Q',()l6
- 68. t" !;um of \. Pls cee ‘ e

(a)a;+nd (b)al+(n l)d (c) na1+d (d)ﬂq-d &

' 69. Flfthtermo% 717-13 L e
@ ®»MY - @V @1
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70. l,-‘—,,i',; ........... st | _
2712 : - : :
: (a) An AP - (b) G. P “(e) H. P Ad) Harmonlc series -
71, If Gy, Ge, -2--moeeeee G are n geometric means between aand b,
then G G? .',.—. .....  Ga)inis. : :
§ b | 2 b b
(@ 222 ® = (c)J— @4
: +b Zab
-T2 Harmomc mean between two numbers @ and ‘b is;
' a+ b ' | 2ab a+b
b :t\/' b d)—— .
- (a) ! ) ‘ : (C)a-r-b (' - 2ab
78. General term of a sequence is- (=D» n2 Its 4t term is: o
(-4 . B-16 - (@©@16 - (D4
Chapter 7 B MﬁltipléChoice QueStibns

(Encn cle the correct answer cho:ce)

, 1 ’I‘he factorial notation was mtroduced by

{a) Chrlstlan kramp - (b) Newton (o) Cendv (d) Boyal |

. 2. ‘n"--n,(r_z,-l) n-2)..321is deﬁned only when nis

* (a) positive integer - - - ', (b) an integer -
. (c) Real number - = - (d) whole number
3. 0!isequal to e ' '
@0 - b1 (c) 1 (d) not deﬁned
4. (-Dlisequalto - .
@0 (b LN (c)-— 1 (d)»not defined
© 5. The factorial formpof = 12.11. 10 IS o
a) o1 9. Cofbyr2t (C)( )' (d)(l"')(Q)
6. The factonal form ofn (n - l) (n 2) An-r+ 1) is -
B | - n‘ (@ n!
. (a"(n r)' L )n r' : (c) (n-r- 1)‘ ' j—(n -r+ 1!
7. - 'I‘he factorlal form of6 5 4 lS ' S |
(a) (3 ) (b) 6 (o 5 (d)‘Nonéofthe‘se

8. If an event A can oecurs in p ways B can occur m q ways then" A
' number.of way that both ex ents can occur i :

-~ fap + ¢ "‘ tbyp. g Ao gt idy -p-rq) ‘
. An arrangement of n. objects according to some definite vr der is called
() (‘ombmatmn SR ()] permutation

. - (c) factorial. R “(d) ordered arrangement
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10. An arrangement of n objects .without any order is called
(a) Combination {b) permutatmn
(c) factorial = - . (d) ordered arrangement
"~ 11. An arrangement of n objects takmg r out of then at a time w1thout
] any order is
(a) "Cr (by nPr - © (n+ r)! (d) (!
12. An arrangement ofn objects takmg r out of then at a time ,with
some defimte order is

- (a)y G () sPr . (C) (n +r)! @ (nr) l.
18. 8.7.6isequal to s - |
- (@)8Ps MsC: . @ . - (DG
*. 14, In a permutation "Pror P(n, r) , it is always true that
- (@anzr  A{b)na<r  @nsr’ o @ n<0,r<0
15. Different signals of 5 flags of different colures , using 3 at atime is '
(@) 60 - (b) 5 . (o) 120 (,d) 10
186. Ifr =n, then HP: is equal to . o -
@ ®En @l @0
17. .“’P-: is equal to o o '
(a) 10 () 720 . -(e) 120 N (d) non of these

18, If these are p 11ke object of one kind and'g'like object of 2'“’ kmd
out of n ob;ect& then dxfferent permutatmn are

LT p)'(n o ® (pq)' @plq! P! q‘ : @ ,’?! B
19, Different circular permutations-of n objects are
. @n . ®@EHH @ E+D - @ nl- |
. 20. The number of ways that 'a necklace of n beads of dlfferent colures '
' be madeis - | : _
. R - | ’ :
- (a) n‘ : (b)—‘ , () (d)L_D"_ -
21. The numbers'of permutatmns of the word PANAMA are
(a) 120%. ™20 - (@10 (d) 60 .

22. The numbers of permutatlon of the word PANAMA when each
~ word starts with P i - ,

@120 ()20 (@10, ...  (d)60.
28. 5 Persons can be seated at a round table in ways .
(@120 - ()24 (c) 720 @

. 24, "-Bf‘isequaltai,- R L
@y - ORI .(c).(mr)!.'- ,(,d’-’ An+ 1]
25."6. m@qual tg L e

Moo ;21: N Bl
(ﬂ) - (b) =t {e) (n=1) (e rign £

r*'
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- 26. C_omplementary combination is. T ' \
- (a) nC, =2, _9 (b) "C: "‘Cn r (C) »Cy +1 ”Cn 1 (d) "Cr '—"Pr‘ .
- 27.1f »Cs =»C12 ", then nis equal to. o

| (a) 8 . (b)-12 o 7(0)-20 o .' "-'(d) 1
28. The number of Triangles of an n sided polygonis .- .
. (a) nuC:;'.' .(b)‘:f& S ()"Ps—n - (d) ;-‘:(_;3_;_3'",
29, w10, + '"'"]‘Cr-_l = . o - E S : : .
@»"-1C ®Ci - @e-1Cor () eCly
30. »Cr+ wCy = - . e
_ (@) n1C7  ()yrriCs () »*1Co .' (d) ~Co
31. The number of Diagonals of a 5 sided polygon is SR
: @ 5. S 20 - @15, - _(d) .,10',;. A
32. The number of Tmangles of a5 sided Polygon is
@) 5 10 . @1 (D 20

33. A hockey 11 out of 15 players be selected, dlfferent teamis 1f a
p_artxcular playels must be selected i is

(@ »Cii . (b 5Py () “Cw ol (d) “Cw ;
84, The set of all possible outcomes of an experlment is
(a) Sample space . (b) Event B
(c) Simple Event e (- Random Experlment
. 35. Any particular- outcome of an experlment 18 called
(a) Sample space A _ (b)Y an Event -
, - (¢) a Trial _ - {7, (d) Random Variable:
36. A fair coin is tossed the probablllty of gettmg a head or taﬂ is
@1 )0 N (c)., - <d)4 |
37. For two. events A and B if AﬂB ¢ ‘then évents A and B are called
(a) mutually exclosn_re (b) not mutually excluswe o
- (e) Overlappmg L - (dy dependent events '

~ 88. If A and B are'mutually excluswe (DJ.SJomt) events ‘thenn (AﬂB) is
_ @0 ~ b1 (o between Oand 1 .~ (d) not defined - :
89. Iftwoevents A and B have equal chance of occurrence then -
C the events are ~ . . . B
(a) Equally hkel__y - ' (b) Not equally hkely ,
. (c) Dependent o ~(d) not mutually ex01u31ve
40, If E 'be an event of a sample space S, then

. (a) P(E) = ﬂ(_S% (b) 0 <PE)<T (C) P(E) > 1 (d) all of these S
41 IfE be an event ofa sample space S then o o N
3 |
- (a) P(E) = ;’:{'E% S (b)O < P(E) < 1
(©) 0< PE) <1 ,‘ AR - (d)-all of these
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42.

43.
- 44,
45,

46,
47.
48,
19.
.l 50,
. Bl
52.

5.

54.

. 55.

~ (a) Null event . _
“{c) certain’ event a

(a) ~ E

(b) E .

(a) P(E)=1+ P(E )
© P(E)=1-P(E)

LetS= {1 2.3,

(a) 5

There are 5 green ‘and 3 red balls ina box. One ball is taken the -
probabﬂlty that. ball is greén or red is - o

(a) g 8

These aré 5 green and 3 red balls ina box the one ball taken is
probablhty of gettmg a black ballis.

(a) 0

(b)5

(b) 1

(b)1 .

If an event always occurs, then it is called

i _-'.38 -

“(b) possrble event. |
@ mdependent event “

IfE is a certain event, then =~
(@) P(E) =0 (b) PE) =1
If E is'an 1mposs1b1e event, then : 4
- (a) PE)=0 (b) PE) =1 () P(E) * 0 @ 0<PE)<1
Non occurrence of an ) event E is denoted by - s :

| (e B
IfE be an event of a sample space S. then

<c)0<P<E)< L @P®>1

‘(d) all of these

(b) P(E =1+ P(E)

(D P(EY=1-PE)
10} the probablhty that a number is dlvmnble by 4 is

(c) 10

(c)

15
(c) 8

d) 3 2
@ & 64

Three dlce are rolled 31multaneously, then n(S) 18 equal to

(a) 36

A coin is tossed 5 times, then n (S)is equal to
()10 -~
A bag eontain 40 balls: out of whlch 15 are black then probablhty |

(a) 32

(b) 18..

(b)Y 25"

~ofa ball not black 1s

(a)- 3’

@3 3
If P(E 172,
‘ (a) 108

(b)

(b) 3

(c)- 216

' 15
(c)

- (e)- 1

) 6

(d) 20-

(d) 64

Two teams'A and B-are playmg a match the probab1hty that
team A dose not loose 18 -

'(d) 0 ‘f‘_'

n(S) 8400 n(E) is equal to N

(®) 4900

(c) 144

(@ 14400 ; |

A die is rolled the probabxhty of gettmg 3or 5 i 1s S

@) = 3

©%

CE-

. \
Ll 72N
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56. A d1e 1s rolled the probablhty of gettmg 3 or an even number 1s ,
(a) 12 . (b) 3 © 3 3 . (d) non of these

57. A coin is tossed 4 tzmes then probablhty that at least one head
appeases in4 tosses 8" \ S A :

(a) 16 * (b) 16 : (C) 4 o (d) 4 . )
58 IfA and B are dlS]ant event, then P(A UB)is equal to
, @ PQA)+P@®B)" o (b) P(A). P(B)

©PQA)+PB)-P@ANB) ~ (@) PANB) . -

59.1f A and B are over lappmg event, then P(A UB)is equal to
(@ PAY+P®B) . - (b)PA), P(B)
" (e) P(A) + P(B) - P(ANB) (d) P(AnB) o
60,If S= {1 10} A ={1,3 5} B— {2 4 .6} then P(AU B).is equal to.‘

(a) 5 (b) : (C) 100 (d) 0

61. If two event do not, effect the oocurrence or non occurrence of each other ‘
then, these are called .~ . o
(a)Independent events - (b) Dependent events
(c) Equal events o (d) Different events .

62, If two eyvent effect the occurrence ofnon occurrence of each

other then these are called

(a)Independent events “(b) Dependent events
e (c) Equal events Do " 1{d) Different events ' . - -
. 68.If A, B and C are Independent event then P(ANBNQ) is equal to '

(@) P(A) +PB)+ Q) . . (b)PA). PB) P(C) :
©@PAUBUC L . (d) none .

64.I1fA, B and C are dlS]Olnt events then P(AU BU C) is equal to
(a) P+ P(B) + P(C) (b) P(A) F(B) P(C) L
(c) P(AﬂBﬂC) (d) none -

‘65 1f P(A) < g -'P(B) g (A ﬂB) is equal to .
(a) 9 o (b) 4 o (c) 63 (d) None of these

‘ '66 If A and B are two 1ndependent events P(Al’)B)—-169 , P(A) = 13 , P(B) =

@3 O 2097 OB @ig i |
67. The number of ways. for sxttmg 4 persons ina tram on a straight - sofa is
@24 - M6 = ()4 . (d) None of these

. 68. Four persons want to s1t_1n a c:rcular sofa the total ways.are .
(@24 ~ (b6 (4 .' (d) None of these o

. -
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69.. A card is drawn from a deck of 52 playmg cards The probabmty .
of card that itis an ace card is

oF ey eg -,@T.-’T-
.,70 If"C "Cp,thennequals- -
| (a) 18 (12 C(©6 (d):20
71. - For lndependent events P(AnB) S
U @P@rP®  GPA-PE
'(é)'P(A)-P(B) R @5 A
ST P(B)

B 72. If| -|= " then the value of n=
e 12 8

@15 016 (@18 - (@20
73. IfA and,«B are. dls_]omt event then P(Au B) = .
‘ (a) ‘P(A) + P(B) e - (b) P(A) + P(B) P(Aﬁ B)

- PA)-P®)+PAN B) - (d) P(A)*‘P(B) P(Am B
' 74. With usual notation *P, equals:

@n @0 QU @nt
75. 1f o= cs then nequals ., . o T
T A(a) 20 - (b) 24 ()14 (d) ~14 A
176, ‘Sample space for tossing a'coin’is: . . . e
. - (a) {H} C®) T\ {H, H} (d) {H, T}

‘_ | '77.__. Probablhty of non—occurrence of an- event E is equal to:

. (@a)1-P P ) n(s) d 1 P E
| (a - (E) (b) (E) (E) .() (E) ( ) ( )
Chapter 8 5 : Multxple Chmce Questnons

(Enc:rcle the correct an,swer choice)

L The statément 47> 3"+ 4is true ‘when

@nr=0 ... byn= J
©nz=2 . . L D)y nis any posmve mteger

2. The statement 3" <n!is true when o
@n=2 . (Byn=4. (@ n= 6 (d) n> 6

3. The general term of the' bmormal ‘expansion (g +x)*is

(a>( ) o (b)( Ja"“"x’_- (c)( Ja’r" - (d)( )(a-'x)n-é -,

4, The number of terms in the expansion of’ (a+b)n are . .-
@n- . ®Ba+rl (@22 (d) ge-t
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-5. In the expansion _(q + x)n , the sum of exponents ofa and x is

| (an ) n=1" (c)n+1'- (d)2nr o
- 6. The (r+ 1)t term in the expansmn of (a +x)" 18
(a)( : ]awx’_ A (b)[ ar-ra .
r+1 —_— o r) S |
(c)( Ja”""”x"” ) . (d)( an4r+l)x.n.*l‘l_
7. In the expansion (g +x) n the exponent of ‘a _
(a) decreases from nto0 (b) I-ncreasea from 0 ton

(c) remains n every -where  (d) becomes n at the end
. 8. In the expansion (g +x) " the exponent of ‘x

~ (a) decreases from nto0 (b) Increases from O ton
- fc) remains n every where (d) becomes-0at the end
9. Middle term/s in the expansion of (a +b) 1 jgfare
@Te - ®Ts&Ts  ©Te&T " (d)Ts,- '
10. Middle term/s in the expansmn of (a—3x)1Y is/ are '~
@T: ®dTs . - ©Ts& T7 ' (d) T'r & Ts |

- 11, 6% term of the expansmn { a-f-2:u:)13 is-

(-a)[ )as x5: (b)( 3) a8.25 x5 (c) ( 3J a8, x® (d)(:) 05.25.#- |

12. 4t term from the end in the expansmn of (a + b)?is S
. @Ts -~ (b) T4 " @T7s - . (d) non of these
- 13. The term 1ndependent of % in the expansion of (a +2x) is

(a) first term (b)-Middle term. () last term - (d) 2™ last term
14. The coeiﬁclent of the last term in the expansion of (2 = x)7is -

(@) 1. Ap)-1. - @7 - (DT

15. Sum of all binontial coefficients in the expansion of (a + x)» is
: (a) 27" (b)2»-1 ()21 (D) n+1 |
16. Sum ofodd bmozmal coefficients in' the expansion of (o + £)» is
. (a) 2~ (b)2=-1 (o) 2ar1 (dn+1 .
17. Sum of even b1nom1a1 cnefﬁclents in the expansion of (¢ + x)* is
- (a)2» (b)2" 1 () 2arr (d)n+1 o

| '(n-p—l) (n+l\ "n+1)_. B (n-HJ
18. | . |+ + N I TP S R ‘wequalto

RN 1) {2 _ S An+l

(a)'2"l Ab) 20T (e) 2a-1 @ cannot be determmed

2n . ’2n‘_-"+; - (2n) lto
. eserea " se
0 : ,'1 ]\2; o 2n.1 qua

@rmm o @

19.

.~w‘
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.j20, If nls odd the rmddle term/s in (a +.7c)u is/ are '
C@dtye RCIC AR

Kol &(-u_&)h ERCIE &<_+z)m ’

21 ¥ n is even the middle terms in (o + x)u is .

(a)( - | (b)(2+1)th'

(c) (

- 22. Whlch term of (x+ 2)8 18 mdependent of x oo

- (&) First (b} Second (¢ Mlddle S (d)Last
23. The deries (1 +x) 18, vaJd if . o
L (@x<1l (b~ l<x<1 (c)x>1 M@=

24. 1+x+x¢+x~"‘+ 1sequa1to S NS
T @t ma-9 @ +x>~2 S @a-ne
'2‘5._1 —x4 22— B+ lsequalbo -

@t (%! (0) (1+x)*2 @A-0-2

.26. When nis negatwe or fraction, then general term of‘ (1+ x)*is

' n(n — 1)(2@— 2)...(n —r+1) S

)th&( )' (d)(-—+1)th&(-+2)=h'.

@pesties g
PRI
(")T’ "'(n 1)(n 2) 321xr -'~"-’(d)'.T,+'1=(n)£r"'

27. If T,;,a_!;*-(‘ ) (-2) ( )""Z" The term mdependent of xis

@i s - @ @6 .
" . 28. The sum-of exponents of @ and & in every term of the expanaxon (@+b)ris

@r = ®o (c)2n @

N - 29, The expanswn of (1-2x)23 1s vahd if

(a)|x|<0 (b)lx|<— © l(x,|<2'[(d)|x|‘<:1,

: 30.3-' n3>n+3lstruefor | e
' (a)n>3 . (b)n>1 (c)n>2 @) n=>-1

o 3"‘1' 1f n is odd Bumber, then m1ddle term 1n expansmn (@ + x)m is:
' (a)n+l (b) n+3 ‘ - n+l1 n+3-

© T @ —mand==
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32. _The expansmn (1 4.7c)-2 is valid 1f ; |
| (a)lxl<~} (b) [xl_>z (c)- 1<x< L (d)- I < -1

\_\

| .33.A ‘The Ihiddle term in the expansion o'fr (a+b)is (-g—-i-;l); then n"ié_:\'\\

o (@odd . (b)even.  (c)prime - (d) none of these
34. Number of terms in the expansion of (1 + ¥)*is: R

o (@n (byn/2 @n-1 -~ @n+1

- 35. The number of terms in the expansion of (¢ + b)* is:

" @18 . (20 @21 (d)‘19f
Chapter 9 o Multlple Chome Questlons '

(Encircle the correct answer. chmce)

1. Two rays w1th a common startmg pomt form S
- (a) Trlangle (b) Angle - (c) Radian -~ (d) Minute
2. _The common starting point of two rays-is.called: @ - - -

(a) O_rlgm R €173 Initial pomt
, (c) Vertex' R | (d)All of these
~ 3. If the rotation of angle i 1s counter clockwise, then angle is:
(a) Negative =~ = | '- . (b) Positive _
(c) Non-negative - * (d) None of these

4. If the initial ray OA rategin anti-clockwise d1rect10n in such a way
that it comc1des wsth 1tself the angle then formed is; -

(a) 180° (b) 270° - (c) 300°  (d) 360°
- 5. One Rotation inénticlockwise direction is equal to. .
(a) 180°¢.\ - ®270 (0 360° | (d) 90°

6. Stralght line angle is equal to.- R A
| (a) rotatmn (b) 7 radian - (c) 180°  (d) All of 't'hes‘e',‘ |
7. One nght angle is equal to is equal to B ) o : ,
(a) -i— r,a_dlan‘ ()90 (c) — rotatlon (d) All of these '
8. 1°isequal to. o s -
| (a) 30 mmute (b) 60 mmute (c) —0 mmute (d) mmute
9. Iﬂlsequalto oo - . S
@ 360" ) 360" ©(555) @6
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10, 60thpartof 108 equalto T VT
. (a) One Second ' (b) COne mmute (c) 1 Radlan (d)n'Radian -
211, 60';" part of I’ isequal tp - '

(@) 1’ - ()1 (C) 60" - (d) 3600" -
. b 3600th part of 1°is 'eq_ual to , o '
@y by (c))60” © o (@)3600"
13. Sexagesimal syster, is also called - . | |
: (a) Gerinan sys’fem ~ (b) Enghsh system
. ©CGS8 systrism " (DS I system
14, -16°3_()"_is=equal;;;to ST T
(@) 16.50 (b) 32 (e) 1'6.;0'5°‘ ‘ (d)16_.2° '

15, Conversio: A of 21 2560 to D°m's" form is: ‘ -
(2)21% 2f/ 6" “'(b) 21°, 40 27” (©):21°, 15, 22' (d) 210 30, 2"- :
. 16 The an gle subtended at the centre of the circle by.an'arc whose
- l"v‘l‘;gth is equal to the radms of the circle is called:
. (a)1Degree = ()Y.  (¢)1Radian ) 1"
17. Tlae system of angular measurement in Whlch angle is measured |
.3:n radian is called: B
() Sexagesnmal system : (b) Clrcular system .
(c) English system = . _{d)Gradient system
18 Relat.lon between the length of an arcof a cxrcle and the cu'cular
measure of 1ts central angie 1s . -

@ =Z L meslr) ©0 - @e=Lr
¥ N r o 2
~ 19, Wlth usual notationS)if £ = Gcm r=2cm |, then unit of 0 is:

- (@em - (b) cm? . ‘ (c) No umt (d)cm3
© 20, 1°1sequalto R .

~ 0 180 .om .
-~ (a) (180) (b) " radlan (c) ( ) : '(d) 180 radl.an_
- 21. ‘1° is équal to S
"~ (@)0.175rad (b) 0.0175 rad. (c) 1 75 rad (d)0.00=1_75. rad
22. 1 Radlan is equal to . )
' ' 180 | . 180 )
(a) 0 rad (b) - rad (c)( = J  ( ) (180]
-, 23. '1 radlan is equalto . o
" (a)57.296° ()b 7296° ‘ (c) 175_.270-7 (d) 17 5270
24. 3radian . S _
(a) 171.888" (b 1200 . (c)3000 (d}2‘70°. |
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25, 1050—...'.‘ ...... radlan'

s '2)? L o hY . ‘Sfr
o (a)  ®3 __,‘_cc)12 @
26. 3" radian' o . ' o B
537: o T ‘ 417: & 27721
— b . (e) d ‘ :
@20 P20 ¢ @_k 720 D S2400
27.-;5' radian = - deg o -
(@45° . (b) 300 (c) 600 T 750
28. Circular measure of angle between' the hands of & watch at 4-0 clock are
@ () 1200 c)%”- (d)270°
. "-29 If i’“15cm&r—25c thenelsequalto -
- (a) = (b) > @31 1) None-
30. If 8 = 450, f—18mm then £= A\
(a) S ® —7: o © 810. (d) 810mm
| 31 Area of sector of cxrcle of radlue ris! o o )
(a) b —re2 ' (c) (,9,2 9
32. Angles with same- 1n1t1a1 and termmal mdes are called _
 (a) Acute angles ‘ (b) Allied angles '
(¢) Conterminal angles - (d) Quad rental angle
33. If angle 6 is in degree, then the angle conterminal with .1 1a ,
(a) @ +180°kskeZ = (b)B+360°k, k €Z
o ()0 +90%k, k oo {d) None of these
. 34, If angle 8.is in radian then angle conterminal with 0 is:
(a)9+2kzr k_e_Z o ®)o+kr kel
r~0+2krke?Z S (d-O+271)

E 35 If the vertex lies at the origin of rectangular coordinate system and its -

mmal side along the positive x- axis, then angle is called:
‘(a) Acute angle - " (b) Conterminal angle
~ (c) Angle in standard pdsition (d) Quadrental angle
'36. An angle i is in standard pOSlthl'l if its vertex hes
.(a) at origin  (b) at x-axis (c) at y -axis (d) in 1st Quadrant
87. Ifinitial and the terminal szde of an angle falls on x—axls or y-
‘thenitiscalled: . - . . _
(a) Cotermlnal angle - (b) Quadrantal angle '
~(¢) Allied angles- ~ - (d)None of these :



.

e

38.

39.
- 40.

41.

- 42,

43.

44. If tan 8 < 0 & cosec 6> 0, ‘then the terminal arm of angle(lies in... Quad o

15.
46.

4.

48,

49.

50.

51'.

_52

'__ss

0°, 90° 180° 2709 & 360° are:

‘(a) Coterminal angle ~ (b) Quadrantal aﬂgle
(c) Allied angles e (d)ane of these

sin26 + cos?0 is equal to

OBJECTIVE PART 46

@0 1  ©-1  @Seo

1+ tan20 is equal to

- (a) Cosec20 - (b) Sin% | {©) ‘ééc2 0 (d) Cot0

cosec? § — cot?d® is equal to . ,
@o" . MmdM1 (C)-l ‘ D2

If Sin® < 0 & cos 6 >0, then the terminal arm of angle lies i in.

@I (b)II : o m - @IV .
Ifcot6>0& cosecB >0 ,then the terminal arm of angle lies in .

(a)I ‘_3 ‘ (b) It - e I @IV

Qtiad “

.. Quad

(@1 I @I @y

If sec < 0 & Sin 6 < 0, then the terminal arm o_f angle liés ifh .
@I - I - (o I > Nd) IV

.. Quad

In right angle Triangle, the measure of the'side opposﬂ:e to 30013

~ (a) Half of Hypotenuse “(b) Halfof'base
(c)- Double of base . -  (d) None of these
The pomt (0 1) lies on. termmal side‘of the angle

(a)0 (b)90° .- ((o180° (d) 270° |

The point (—1 O) lies on termlnal side of angle _
@0 (b9 - ~(c) 1800 . (d) 2709
The point (0, -«1) hes ont termmai side of angle :

@0 . My (@ 1800 (d) 2700

2sm45°+—cosec45° R o e

‘”[ '3«@4f @

Domam ofsin 0 is

(a)R S .I B .- (b)eeRbuteatnﬂ neZ

(c) Oe R but 0= (2n +1) -5 n e Z (d) None of_ these -

(a)OeRbutbutG#nfz neZ : (b)R
: (c)BeRbutBat(Zn'-i-l)E,neZ. (d)n7r neZ

Domamofcose-— L . B '
@R - ‘ (b)BeRbutB#nﬂ' neZ |
(c) 0e R but e * (2n +1) —, ne z @ None of these |

Domam of tane" - ' )
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"'54."‘Domai'n‘cot'9= . AT .
L (a)GeR ST ()0 eRbutd=znzr,neZ

(c)GeRbutG¢(2n+1) —, neZ @R-{0} - "

55. Domain of sec6.5 = o - S

' (@8 eR B (b)6 e Rbutbutd=nr, nelZ
(c) -R—(l,l)- : | . (d) 0e R’bute;&(z n+-1_) _E, ne Z _

56. _'Domau'i of cosec®=
" (a)BeR I (b)GeRbut 0¢nﬂ neZ

(c)GERbutB:(2n+1)—- ne Z (d)R [11]

N "5_‘7._Doma1nofsm’6+c0329—1 ‘ -
: (a)BeR - (b)GeRbutG:nfrneZ

N (c)9€Rbut0:(2n+1) Znez. (d)R . 1.

‘_585 Sec 6 cosec O sin 9 cos =

. @1 . - (®d0 a (c)sme L '(d)cosﬁ- -
59. (Sec9+tan9)(sece tan9)=_ . R
T Aa)l ) sec 0 (c) tan26 . (d) 1-2tan%
- 1=sing@ o ,
O oo AL | o
.. cosf L Yces@ sme .. sin@
(8) — (c ) o ——
o 1-sin& 1+sin8 cosé . ~ 1+cosé@
61.. Which of the followmg i8 not quadrental angle S
: (8) 903\ + (b) =90 (c) =180° . (d) 210°

62. Which of the followmg s quadrental angle '
o (a)~3000 (b) - 90° (c) —2500 ° (d) 210°
- 63. Which of the followmg is quadrental angle. - -
' ~ (a) —180° (b) o (e) ~270° (d)Allof‘these -

Chapter 10 Mult,zple Cho:ce Questnons o

(Enczrcle the correct answer chatce)

1. D1stance between the pomts P1 (x1 y1) & P (xz yz) 180
 @d=NmmmP + g1-52 ®d=N@E-3)? + (o- el
s (c)d ,\fxl x2)2+ (yzfyl)z“, (d)Allofthese e
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. ',sm (o — :
(a)cos a.. cos B + sin o sm B'=

(@) 2v2 ()3

. Dlstance between the pomts A(3 8) & (5, 6) is: -
@4 @2

Fundamental law of Trigonometry is, cos (a~p) =

(@) cos acos P + sin o sin B
(c)sinccos B +cosasinf -

. cos (o — S

(a) cos 0. cos 3 + sin a sin B

-B) i8 equal to

(c) sin o cos B + cos ‘o sin B

. cos(a+|3)1sequalt0 .
' (a)cos . cos B+sinasin

(c)sinacosB+cosasinf.
13) is equal to R

(c) sinct cos B + cos a sin .

. sm(a+]3)1sequalto_ ,
(a).cos o cos{3+smasm|3' '

~ {(c)sin o cos B + cos o sin B

-~ 1-tanatan g

(b) cos o cos B~ sina sin . :
(d) sin o cos f - cos & sinf

| (b)-éds o cos B~ sino sin B .
(d) sin e ¢0s § ~ cosa sinff

(b) cos o cos 8 — sina sin B

- (d) sin a ¢os B~ cosa sin B

" (b) cos a cos B~ Giha sip P

- (d) sin &t cos B < cosa sin B

" (b) cos o ¢os B-— ‘sin a sin g
(d):-sinGeos f=cosasinp

8. cos(—z——ﬂ))ls equal to ‘ R
| @Cosp (- cosB - Gosinp . (@-sinp
9. cos(|3+—) 1sequalto 3 j-' | '7 S
R @ Cosp B -cfB ) @Sinp  @-sinp
10. sm(B——)lsequalto Q e
@ CosB B)=cosp  (@sinp  @-sinp
11, cos(27t 0) 1sequalto R a S
() Cos 8- (b)-<Cos® = ()Sin® ' .(d)—sind.
. 12, sin(2x — B)iseq'ualto T
. (@Cos® ()~Cos® = (c)Sin6 - (d)~sind - -
18, Tan (& +B)is equal to. o |
()tana tan 5. : | (b)-tana+tanﬂ- |
1- tanatanﬂ . l+tanatan B
v 1+ tana tan ﬁ l-tanatan §-
‘,14 ’I‘an(a B)Lbequalto o __—
Y1 tancxtanﬁ l+tangtan g -
(c)____tmﬂanﬂ @pnaranf o
l+tgnja.tanﬁ ‘
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44- -

" 15.

16.

17
| o ‘(a)Cosvel
18,

19.
20.

2.
Y
"'.'23'.
24
- 25. o
26,
- '2_7‘.
28,

. 29,

or its multiple are called:
(a) Conterminal angles |
~ (c) Allied angles '

sm (- ~@)ia equal to |
 ®Sin®

(a) Cos 9

sm (—+B )is equal to

cos (”2“’"-.6') is equa_l.to'

. (a)cos® . -

cbg,(%-l_-é’_)_isfecjuélto‘__ N

(b Si:n_é o

. {c) ~cos &

(a} cbé o
tan (--~—9 ) is equalto N

(a) cot 0 (b) tan 0
tan (~—+9) 1s equal to

(a) cot 8

(a)sin & (byeesd-
sm(n:+9)1sequalto D
(a) sin 6 \(b) cos®

cos (n — G)lsequalto o
(a) 8in O «
cos (x +6.) lsAqu_aI to

. (a).sin\0 - (b) cos0
tan (n —6) is equal to K
(a)tan @ (b)—cot @

tan (n+0) is ‘éjqual to

- (a) tan 9
sin- (Ef_..g) is equal to
2

(a) Sin8
sin (E;g) is equal to
2 B

(a) Smﬁ

(b) Sm ;I

“(b)sin®

E (b) tan 9
.8in (n —6) is eqinal to

(b) cds;e o :

(b) - cot&
(b).cos e"’

(b) cos 9 " _'

Angles assoc1ated with basw angles of measure 6 to a nght angle

- (b) Angle in standard posmons
(d) Obtuse angles o

© e-cbé"__ﬁ' B

, (c)'-c.osj.e S

(c) —cos 8

(@Crote
@=cotd

(t;) - sin@ |

(©) ~sin 6

- | (c)-—sihﬁ _"
(@ ~tand
(©sing

© sind

" (a)_.—sine |
.' (d) —lsin'ﬁ ]

\ '(d)' --‘si'n'-6

. : »

 (@dZtan®

@-ano
@ —cost
©-sind @ cons
J-sno (@ ~aoso
 @-css
- (d) cot @

C@eots

(d)— cos 6 | o

(@~ cos®

N
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30. cos (32‘1 +9) is eq{lal te. | |
@ -Sin‘a.' (b) cos 8 - (c) sind o (d)-cosB
"31_. cos (12"9) isequalto e | )

. (a) Sind o (b)coafe'-. (¢)sind (D~ ¢§S'9 ;
32. tan (—+9) is equalto - . , | I, , |
R ) tan 6 ' " (becotd - (c),_ taj_1 0. | (d)-'00t9 :
v‘33 tan (-3—2—-9) is egualto - o |

(a)tan® (b) cote {o)~tan® . (d)~cot®
343111(21: 6)1sequalto o W ONY
(a)sin® (b) cos® (c)—-sinb® . ", (d)—cosB
3_5 sinr+6)isequalto - . . cepyN L.
' (a) sin§: - (b)cose' (c) ~ sin @\ (d)+co$9
-36._cos(21t+9)1sequa1to o L NY
B (a) sin® . . (b)oosG - .(c) »6in'® : (d) - cosei-
37."tan @2r=0)i is equalto RN A A e
(a)tan @ (b) cot 8 (fey<tan® '(d) cotB -
38. tan (2n+0) i is equal to .- "4 o ,
... (d)tan®- (b) cotB'-.' (c) tanﬂ . (d_)—-cote :
39. ;cos 315" is equal to . REN N
ot .‘.‘.”-:..‘?‘ Lep e 2
40.-31n540f’lsequalto e
- () , | ‘(b):gj_; ‘ (C)\/E 7,@) 2
41. _tan (—135) is equal to, ot o
a)'l RN ( )Y ¢ ¢ — . - @ -1
| () : (b.)_ - (.)'\/5 ( ) -1
42. sec (~300°).is equalto -~ - - . e e T
@1 2z @0, _,-'_,(d)-1--.
43. sin (180 + o). sin (90 - a) is equal to ' o

. (@sinacosa  (by-sinacosa () 6087 ‘ (d) ~cosy
44, .o B and. y are the angles of A ABC, then Sm @+p ) is equal ta

. (@)siny - (®)-siny  (@cosy (d)—cosy',‘..".'. :



45.

: ‘] ) 46.
41,
o cosll® “sinll®
48,
49,
50?
@

1B,

52. sin2 is
B8
54

- (a tan—- « =+ (b)cos —.. .

OBJECTVEPART 51

(a+ P

If a, B ahd y are the angles-of A A_BC, _i;hén cos _T_ =

(a) sin >

n
-ﬂs —
- (b) m2

'(c) cos -;i (@ - cosi;

If a,p and Y are the angles of A ABC, then cos (a + B )is equal to

(a) sin y
cos11’ +sinll’

(@) tan 56° .
sta is equal to
~ (a) Cos2qa — sz
(c)251nacoscz '
cos 2ais equal t0 -
(a) cos? o —sin o -
(e} 1-2sin%x -

tan 2ais equal to . /

2tanag
l+tan2a
2tan a

)

Q’

o8 — = ‘”
R S

(@ %

sm3a i8 equal to ,
(a)38Sina —_4sm3 o

(@) 4Sina—-3sinda o

cos3 ois equalto
(a) 3cos o - 4cos o

(©) 4cos® o - 3cos a

1+ ~Cosq
' smo:

—"' A

(b) —siny

‘(b)tan34°  (c) oot 569

®

e SO

BT
. (e)sin—
'(._) "y

{c)cosy.- (d) cos Y

(b) 1+ cos?2 a .
.. @2sin2acos2a

Bt
+ o (d)all of theser "

. “-.

Ztana -
\I—tan’a
2tan’e
@ Tanta

 wasmerma
() 4Sina+3 'sin3 a

. | (b) 3cos|3 o + 4cos o . :
3 (d) 4cos3 a + 4cos o

-(d) sec—
(d e_»z____

g (d) cot 340



gz,

60.
| é;.
62.

63.

- 64.-

65,

N (a),-‘ -5 (b)

(a) 2sin (“*ﬁ)cos (a '3

(c) 2 cos (a+ﬁ)cos( ‘8)

2 sin 7900339 =
“(a) s1n109+sm46 |
{c) c08108 +cos48 :
2 cos 58sin36 is equal to
{a) smS 8 -sin 28" |
" {¢) sin 40 < sin@’;

2 sin 7051020, is equal to -_I |

. "(a) cosb 8= ~cos98 .
(c)-sin98 + sm 58

sin 12° sm 460 is. equal to o
- (a) 2 (cos34° -cos58°) |

(© (cos58° - c05340) L

'Which i is the allled angle
(a) 90°+ 4

5

- (b)60°+ 8
‘The value of siri 420° is;

. Oy

@4+ 0

. OBJECTIVE PART
56. (sma+sm B) is eqaalto | '
| (a)2sm( ﬂ)c 8 (= ﬁ)_ (b)2cos( ﬂ)m (“ ﬂ)
| _(C)Z‘cos(‘ ﬂ)cos (;2‘6')'_. :'(d)-281n( ﬂ)sm( 2'6
" _57._ sin @ - sm[}— o - |
(a)2;sm( ‘8) cos ( ﬂ)_ (b)2cos( ﬂ)sm( 2"8),- '. |
(c)2cos( ﬂ)co ( ‘3) '(d)--fzsin_( -2'6_)-s’in(“;ﬂj
58. cos,a+cosﬂ- S o S B
. (3)2.Si“-_(q;ﬂ')°°$-(%é)' | ".(b)2cos( ﬂ)sn(
| (c)2cos( 5 cos ( 5 ) . (d) 281n('-: 2- _)‘._sm( '_”2_) .
'59. cos a= cosﬂ- . : "

(b)2cos(a'+ﬁ3sm(a l’)

- '(d)_'—2 sm(‘;“;ﬂ)sm(a’zﬂ_. |

() sin50+sin20 . ¢

(d)f‘coS5.9—’COs-;26"' N

(b) sin 849 +sin "!9
o ‘(d) sm49 +sm0 ;

() cosge-_—;.cossa‘
D éin99+s_in 56

' lv;"_-(b) (cos58° - cos34° )

: (d)"~2-(c0358°-'+ cbé34_°): C

. @) 300_,_9 o

. “I(d) =

)

ﬂ) “
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66. 2sinx cosx is equal to: - -
- (@) sinx ~ (b)sin2x () sin x/2 cos x/2 (d) none of theae‘ o

67 The value of cos (a — 23’) is equal to |

(a) —cosa (b)-sina (cJcosa  (d)sina
68.. Thevalueefsm Tmisequalto: = .

(a)O (b)l . '(C) -1 @12
Chapter 11 o Mﬁltiple éhblc& Quesiionsﬁ ‘

Enclrcle thc corrcct auwer choice)

1. Domain of y—sm x is

(@) ~x <x<x .  ®-1<x <l
‘ (c)-ac<x <%, xfn7T neZ ' (d).xZIZ,x-S—.'l,
2. Domain of y = cos x is Ny
' (a)- w<x<o S - o) -lsw's1
(c)—-»oo<x < oo, x:;énzr neZ j._(d)x,z-l;xs-_l
3. Domain ofy =Tan x is o o : :
(a)—oo<x<oo S (b)—,_oo<x<00,'x #nm,neZ -
(c)—cx:><x<ao x;ﬁ '(n—zlm,nez -(d)—zz' s'x‘fg T
- 4, Domaln ofv—cot_x is , P | ,
. (a)—go<x<3c RN (b)—co<x<ocx;&n7r neZ
!2 + 1
(c) oo<x<w X# "2)”,nez (d)-—ﬂ<x<zr
8. Domain of y —..secxls o U
-(a)-eo<x<oo ' (b)-oo<x<oox¢n7r neZ :
‘ g2 +1) :
(c)—ec<x<cc x:ﬁ L Y ?, nEZ (d)—__?_f <x= P
6. Domam ofy = cosec x is’ R : | :
' '(a)'—oo-<x<-ac- - — (b)—co<x<dox¢nﬂ' neZ _
: | Cn+1) -
' (c)—ac<x<:c x# T ne‘Z -(d)—--?_r‘-_<_;c.,<_;:r_r_

7. 'Rangeofyw-smxls o
" (@R, (®-1<y<l © o 1)U (-1 VQO) | (d)"—,1k<y<'1_;
8. Rangeofy=cosxis - ‘ | |

@R B, 11”“(_6)—i<y<1 @ = l)U(l @

9 Rangeofy*tanxls .

T @ Ent) - b)[=1, 1} @ (d)R_—‘{O} :
10. Range of y =cot x is : PR

. (@R (b)R-[ -1, 1] (C) Rf{D} @z



11.

- 12,

'1.3

14.
1;%.'
17
- 18.
10
_'zo.
.2_1'.
22,

23.

Range of y = sec x is

(@ R o ) y=2lorys-1
©-~1<y51 | @) R~[-1,1]
Rangeof y= Cosecx is .~ = ,
(@ R - () y=2lorys -1
(@-l<ysl () R~[1,1]

_OBJECTIVE PART.

Smallest + vé number which when added to the original cn'cular

" (a) Domain b) Range
Penod ofsm(-)ls - |
(&) 7 | (b) 27

Permd of cosec: 9 18

(a)fr o (b) 2:!‘

Perlod of tanBis
@z . @27

Perlod of cot 0 is

@z (b) 27: |

Period of sec  is

@ . b))

Period of cos&is

@ )bz

penod of sm 3x is

(a) « “ (b_) 27 E

Pe:iod“c')f-‘cds 2% is
@2z M) x-

Permd of tan 4 x |

(et)4 o .(b)‘ 4
‘Period of cot 3xis .

L eF  ef

o © 27

{¢c) 27

(©) =27

- -(c)—.27t.. -
o (_c)'--_zzz}'i__ B
(© 2—3’5‘ o
(0)4 :r |
" _(c-)_-817.r.'..

%

] measure of the angle gives the same value of the function is called
(c) co domain

(dj period_ '

.(d)*z-

@ 5

@3
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- 24, 'Period'ofsec2xis o o . R B
(@~ (b) 27:. -_(c)~§ _~-(d)47r

25 Permd of cosec 3x is e
@ = ﬂ b3 @3 D3z
26 Periodofsing is o R . |
@2 WG @6 @3r
27. Penod ofc056 s R -
: T L : J : :
(a)12fr - g . @F Sd)y3x
28. Period of cot,? | | | |
@2r  ®F @A @
.29, Period of 3 cos g is |
0z - - 6x - 5D
(a) —3— | (b);f? . @107 (d) =3~
30 Penod of 2cosec 4 | |
@27 (b)4r:" @5 @8«
31. Périod of 3 tai_ri % s | |
(a)—-—- ST © @ 147
82, The graph of trlgonometnc functlons have
(a) Breaks segments . ~ (b) sharp corners
(c) straight line segments . (d) smooth curves -
' 88. The graph of function y = sin 2x , will be between the lines
(@Qx=1&x=-1 | (b)y"l&y—-—l '
(R x=2&x= -2 - dy= 2&y=-2

- 34 The graph of sine function in the interval [0, 27} is called -
: (a) its period" (b) its domain (c) its continuity (d) one cycle
35. The graph of function y = 2sinx, will be between the lines
@x=1&x=-1 -~ . (Gy=1&y=-1
@ x=2&x=-2 dy=2&y= -2
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: 36 The tmgonometnc functxons repeat thelr values after- addmg or
subtracting 27 in basic angle x. This behavior is called
(a) permd (b) penodmlty (c) oontmulty (d) range

.Chapter 12 Multaple Cholee Questnons :

) (Encnrcle the correct answer cho;ce)
1. A “Tnangle” has: - . .
. (a)Two elements .~ ) 3 Elel;ents -
© (c) 4 Eiements - ~* 7 (@ 6 Elements

2. At the tep of 4 ehiff 80m lngh the angle of depreseion of a beat is & If the | -

- distance between the boab and foot of chf is 80\/- 3m, then angle @ is '

| (a> o (b) (c)—- \ <d)-——
When we Iook an object above the honzontal ray the angle formed 1
(a) Angle of Elevation " " .(b) Angleof depression .
(c) Angle of incidence .' N {d) Angle of reflection
4. When we look an ohject below the horlzontal ray, the angle formed is
(a) Angle of Elevation {b) Angle of depression
, (c) Angle of incidence . (d) Angle of reﬂectmn
5. A Triangle which is not right.is called
(a) Obligue triangle ¢ (by Isoecelee triangle B
(c) Scalene triangle~~ ")~ " (d) Right Isosceles trlangle :
. 6. To solve an oblique trlangle we use: | |
(a) Law of sines \.- ~ ) ~ (b) Law of cosines
(c) Law of tangents s (d) All of these
LT In any tnangleABC f’iﬂ'a‘.'g;‘_"_ L o o 7
Co (@Cosa ~ (B)Sine "~ {e).Cos B - (d)Cosy
8. Wluch can be reduced toPythagorae theorem:. o
(a) Law of sines -~ =~ (b) Law of cosines =
~(¢) Law of tangents S .. {d)Half angle formulas
9. In any tnangle ABC iff= q(3‘0 then b‘*‘ = ¢2+g2 - 2dc.cos B becomes:
" (a)Lawofsin = ~(b) Law of Tangents _
"(c) Pythagoras Theorem (d) None of these ,'
: 10 In any triangle ABC, Law of of tangent 8 . -
(a) &= ~-b tam(a B o (b) a- b tan(a + ﬂ)
a+b tan(a'+ﬁ) S . a+h tan(e-4) = -
7 . TR L a+
(o) a-b ,.“‘“"ﬁi‘é Y ey
" a+b - m(gﬂ) . _‘.;a-t'b‘-" m'“(a;'ﬁ_)_ _
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“B)s o) _

11. In any tri‘angle'ABC, "/G

| o be . |
| (a) sin % . '_.. (b) cos% T .(c) smg -,(d) sin-—;:_, "
12, In any tr1angle ABC \/G a)s - c) 'is equal to
: . ac

: ,.(?) sm—i- (b) co's2 . (¢) sin 2 - ‘(‘d) sin 2

a)(s - b)
" a b ‘

Cwsn?® mres®  ©snf . J in %O
_ “(a) smz_. _(b).cqs.z_l,'_ (© 5192 ) @) o\

' 13 In any triangle ABC, fs

14 In any tri'angle ABC, Cos%,i&-e'dualtd

16. In any tr1angle ABC Cos Z- is equal to

() fs(s q (d) s(s -C)

s('s a) -
@ - ab ‘
17. In any trlangle ABC w1th usual notatmns ‘sis equal to
@ a+bie (b) a+b+c () a+b+c (d) abe
a8 | S6-@) : L
- NGs=b)s—c) |
N S * S RETUUIE - LSRN/ SE
) sin— (b) cos— (@) tan—  (d) cot—
Wi G Omf @i

19. ‘ M_
(s-a)s- C)

g . B B . B
(a)51n2 | (b)0052 . {e) t'anzl _.(fi)c-ot_z.l
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20. In ﬁny triangie ABC, __i(s_c_).._.. is equal to

R RET o
C@sinl sl . @l @eotl
21, In any triangle ABC, [(5- .“)_(__._5) ) is equal to
o ' | s{s-c 7 _
’ ' _‘(fa) sh?—rz- (b) cos-}zf- o (c) tan?zi (d) cot‘_’zi
22, Inany triangle ABG,  [s-a)s— ")
S S s(s=b) -
tan £ wml @l @ seel -
| (a) 2 (b) T (c) "2 ( ).se'cz o
"‘23 In any tnangle ABC,. /___..______(S +a)s+b) =
' | s(s+c) . | |
(a) Sin-—g— (b) cosE - (c)‘ta#i —}21 | (d) None of these |

24. ‘We can solve an oblique triangle, if: | - ,
(a) One side and two angles are known . \..) . (b)Three sides are known
(¢) Twa sides and their included angles.are known (DAl (a),(b) and (¢)

.~ 25. Tosolve an oblique Triangle when measure of three 31des are

glven, we can use:

(a) Hero Formula_ (") ~(b) Law of Cosines-
- (¢) Law of Tangents (d) Pythagoras theorem

26. The smallest angle of A'ABC, when a = =37.34,b=3.24, and ¢ = 35.06 is
@a - ). B © 7 . (d) cannotbe determmed

27. Area of Tr:angle in terms of measure of two sides and their
mcluded angle is:

(a) bc sina (b) —;-ca sift ﬂ (c) ab sm 7 (d) AH of these
28. In any tnangle ABC, Areaof Triangle 1s
(a) be smo: | (b) —;—ca sina@ (c) ab siny (d) -—absm ﬁ

29. Area of '1‘r1angle in terms of measure of one sule and two angles is:
1 a’sinBsiny 14%sinasiny ‘
(a)—— SR
2 sina .« 2 sin ﬂ

1esin«:ing-

() (d)Allof these

siny
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30 In any tr:angle ABC Hero's formula is

@A=sE 96 B 9 A= S 56- )

T a+b+c

@a= s(s— s~ b)(s s (d)A“- :

E 31. In any trlangle ABC w1th usual notatlons which one of them is not true

(a) A= Eabsmy - .(b)A é—bcsmaf _' '

1 asmﬂsmy

. (d)'A2 s(s a) (s b) (s c)
2 - osina

- © A=

| 32, The cnrcle passing through the three vertices of a Tnanlge is called

E et P -

(a) Circum Circle (b) In-circle . (c) Ex- centre  (d) Escribed c1rcle

33. The point of mtersectmn of the nght blsectors ef the sides of the

Trianlge is called: .

(a)circum centre  (b)Incentre
.- (c)Escribed centre =~ . (d)ortho centre
34, Radius of the circle which passes through the vertices of a Tnangle is:
(a) Circum Radius -~ = (b) In-Radms
| - {c) e- Radms D - (d) Diameter
| 35 .In any tnangle ABC with usual -notatlons, fx -=
‘ - _ - 2smea
@r (b)n CoWR @aA
. 36.. In.any triangle ABC, vnth usual nef&tions, 7 = -
_ N _sm
(a) 2r - Wen ' (c) 2R CoAd)y AS '
37 In any tnangle ABC with usual notatmns Sm y =
@R (b) (c)--- | (d) 3
' 388..In any tnangle ABC W1th usual notatmns R=
aber . abc A
@S5 B O @
- . abe - abc

39. In any tnangle ABC w1th uSua] notatlons, | abc =

@R ®)Rs (€ 4RA (d) _,
- 40. The circle drawn inside a Tnangle touchmg 1ts three sldes mternally is
(a) Inscribed circle - (b) unit circle. '
(¢) circum circle o (d) Escribed circle

41, The point of intersection of the blsectars of angles of the Tﬁangle is:

(a) In centre ‘ (b) e-centre
_ (c) circum centre ~ {(d) Ex - centre
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42, In Radmsm denotedby o S R
@R ®r  ©On (d) s

43. In any trlangle ABC w1th usual notatmns in radlus ris equal to
(a) R ’b)  @sA @
: \ : ZSma'

‘ '-44 A cu'cle Wthh touches one 81de of the Tnangle externally and
_ other two produced sides internally is '
(a).Escribed circle (b) Ex-circle (c)e-circle (d) all of these
45 _The point where the internal bisector of one and the external
. bisector of the ather two angles of the Triangle meet is called:
(a) Escnbed centre (b) Ex- centre (c) e-centre (d) all of these

46 In any trlangle ABC, with usual notatmns
S—a

@R : (b)r ‘ (c)rl"‘ (d)Sma

47, In any tnangle ABC, W1th usual notatmns r is. equal to
' s—a
| ._(a)sa‘r '(b)sb (c)s -4, (d)A.
48, In -any triangle ABC, with usual notations, r:R:r
(a)1: 2: 8 321 (c)132 (@ 1:1: 1
49 In.any triangle ABC with usual notatlons ‘Law of Sine is: -
(@) sina s1nﬁ _siny - (b) a_ .. b c
a b e o sina smﬁ siny

(c)a sina@ = b:sin ﬂ = c sin y (d)A]lofthese

S 50. The area of trlangle ABC 1s '

(a) bc smﬂ (b) bcsm y (c) —bcsma (d) bcsm(a + ﬂ + y)

51. For a 01rcum_ cn'cle R= o
abc abc

a) — | —_— —_— dy —
® ()4sA © A .().abc
52 Ina tnangle ABC if ﬂ 60° V= 15° then @ equals
(@)90° *  (b) 180° © 15Q° . _(d). 105",
53. With usual notatmn rsequals ,. _~ .
@ B @ @
s~a . s=b . s-c s+a

A
54. W1th usual notatmns — is equal to

@r O ©n (.dz);-.s,-f o
, 55 ~With usual notation r2 is equal oo
RO (_c)i;_b KR (d)_-_.}
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Chapte" 13 Multiple Choics Questions

(Enczrcle the correct answer chozce)

Note Here we are dealing wnth prmcxpal functlon or capltal

functnon i.e.

. Instead of sin X, We use Sm x.

. Instead of cos x, we use Cos x '

" Instead of tan x we use Tan x etc. ‘While in chapter 11, General |

. functions were discussed and symbols sinx, tanx etc. were used.”
~Here we are restricting the domain to make the function (1:1), - .
- so that its inverse is to be calculated.’ ' .
‘Inverse of general Tngonometnc functions. does not exxst It

exists only when function s (1-1), to make the. function 1-1),

" we restrict the domain. of the function and we eall the function -

- principal or capital functlons We -de_note ‘the principal
functions as: SN ol

o y=8inx, - \y'=Co;s x, . y=Seex

f y=Cosecx, y=Tanx, y=Cotx -

. If y=Sin x, tlien Domain is ‘

(@) —— xS — O<xsm -
7‘ (a) 2 S (b) sEsmo
'0’ ), X# — o . d -—,—=}, 0 -
'(C).[ | x- 2.0 (@ [ 3 2] x::__
If y‘—* Cos x, then. Domain.is_ - _
(a) —er—< x_ 12’. o : ’ (b)OsxSn
. SR A ZEN
O, x# .= S @S k0
(0)[ ey | ,__.._()_[..2_‘..2] x#0
If y Sec X, then Domam is "
(a)f-'%<x_< _’25. o  ®osasw
(c) [0, n] x = -;5 _‘ .. (d) [_%,g],x;t 0, e
- If y Cosecx then Domainis - ST
T r '
(@) -T<xs = 0< <
(@) -7 <z 5 - (osxsT

| '(c_)to,ul_,;&i;eg-_ o _'(d_) [-—-— ]xto-"
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5. If y = Tan x, then domain is - '

(a)—%<xs-2- (b)——%x\<— (c)0<x<n‘ (d)‘Osx::s-:'r‘--

2
6. If y = Cot x, then domam is | ,
T _ oz z 7 ;
(@ - sx<> - — 0<x<n dOs m
(a) 5 5% > (b) 2<x<2 (C) () xsm

-7. If y= Sin x, then range is = _ , o
(a)-lsy<1 (b)(——oo +oo)orR (c)_ysfl,oryz 1. (d)'y<

: -lory>1
8. Ify Cos x, then range is . _ R
{a)-lsy<1l . .' () (o0, +0) or R -
(c)ys-l ory=1 o dy<-lory>1.
9. If y =Tan x, Then range is C e
(@-1<y<1l o ~ (b) (oo, +w) or R .
- (e)y<=lory=1 " . (d)y<-lory>1
10. If, y=Cot x, then range Is‘ o -
- (a)-1gy<1. SR - (b)y(—oo, +x)eVR
©ys-lory=z1 - . "(d)y< lory>1-

R 11. If y =Cosecx, thenrangels . ' -
7'(a)-1<y<1' (b) (~o0, +oo)orR ) (c)y< lory>1 (d)y<

—lory>1
12. If y =Secx, then range is . o
- @=-1<y<1l - \Y(b) (~5, +0)or R
, (c)y<flo,ry>1.' (  (dy<-lory>1
'18. If y =Sin!x, then domainus o ;
(a)-1<x<1 g . () (=0, t0)or R
_ @©@x2-lorx<1 ) -+ (dx<-lorx21
14, If y = Cos'x, thed Domainis =~ - =
(@)-1<x<s1ey " - (b) (o, +) or R
_ (c)x>—10rx<1 - (dyx<-lorx21
15. If y=Tan™!x, then domam is B
(@-1=x<1 =~ - (b)(~o,+o)orR .
(c)x2—10rx<1 ) - (dx<-lorx21
16 If. y = Cot -! x, then' Domainis -
(a)-1<sx<1 . ~ (b) (~», to) or R
(c)x2—10rx<1 | - (@x<-lorx=1
17. If y =Seelx, then Domaln s - -
(a)-1<sx<1 - . ~ (b) {=o0; +o0) or R
(c)x>——lorx<1 ' - (dx<-lorxz1-
18, If y = Cosec'x, then Domam is : i
(a)—1<x<1 ‘ " (b) (0, +0) or R

(c)xz-lorxsl o C(@xs—lorx=1

. e ——b e e b am maentw e e
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"19'.
20,
2L

22,

23.

24,

25.

- 26.

27.
- - (@) —cos™
()2 x

28,

COS_lx-- RLE RS F R Y )
RN 2 B
(a)— —coslx (b)— —sin-lx
-s.' a 2 . 2 ° - )
29. Cosec-lx=.....

(o) y=(Sin)y?

(a) trigonometriefunction
(c) onto function '

(b) (1-1) function -
/(d) an into function

If y=8in ~ly, ‘then which is not true

(a8 x=8Siny

Sm"lx =y

F 2
— Cclx.
(a) 5~ seclx

o) Z o sin-ix

() domain of Inverse functlon 18 Value of x
(d) range of Inverse function is value of y

1 (c)fg' +cos~'1x__l d) %'--coéec*‘# _'

i '(c);"f— —Sec-lx ) %--F cos-lx

" (b)—};—écosec -lx  (c) -;E'.f.cosec-'x (d)% -~ sin-lx ’

Life
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If y=Sii_1f1 x, then range is o | | :‘ {
(@ ﬁ% 5x$% " (b)’Osxsfr_t‘ «_('c)_-—% <x< —725 .(.t_i)0<'x<1t'. E
If y =Cos -!x, then range is ° |
(#) —.-%Sx_s% b)0<x<m ‘_};(c) -%<x<3_ (d)0<x<1t'
If y =Tanlx, then range is L
(Qj —% <'x<§ (b)0<x<7t_ _(c_) '-—-;-'-:x'-<' % | V(d) 0-<_x<l1t o
If y = Cot-lx, then range is . ‘ ) —
(a) _..g. <x<% (b)-0<x<1t'r'. () ——’25— <x<‘-’2£ '(dj .0"§_x<-n
'Ify - See -lx, thenrangc is o . o ‘ ”
@0sysmysZ ®)- 2 <75 y#0
@O0<y<m o (d)'—-§<yé--§— |
If y= Coseclx, then xa,nge' is S @ | , |
(@) 0<y<mys > =" <y<Z y20
ST T2 -2 27
'.-(c)0<y<1t 7 (d');%;.'_}’%%
| Inverse of a functlon exmt only if it is |
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() -g-'-— cosec I (b)g ~seclx '(c),g- ~cos-lx (d)—;— + seclx
" 81. Tan = | o |
(a)E ~tan -1x (b) — —cot ‘x (c) 3 +tan “tx (d) 3 +eot-lx ¢

,32 Cot 'x-.r,...'. ......

(a)E - tan -.‘x (b). -2- -—@ ~*x © .-g-l + tan ~lx '(d)_-% + cot 7“‘?‘ ', .

88, Sin (Cos” 5) = v | o
BT .(b>..1-. ©-3 o @50
- 34. cos(Tan-lo)- .......... N TN
35. Sec[Sm*l(— —-)]-' ....... - o |
:-.'(a) T o _(b)‘. 2 (C)'z- (.) —J-_;;
36. Sin -f(~ = | ' | .
@l ey e-37 @i
37. Cos ) =.....h . e
@I m-E e-X @Z
) @F ‘ ® (c) T @ 3
A=) =
38. _:Tan (3,),....‘ _ o R
@y @3
39. Tan-(V3) =..... : S o
@z b= -z ‘(_d)%r-
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| 40._0'0,;.1(_1')',;;-” o e
e (b).—§ - ce)g*'-‘-'_?@ @-2

41 TanTan"(—l)‘ ' | R

(.) 1 . | (b)l‘_,-._l @ ’_a..(g_t) -

.' 42 Cos (Sm‘-l )-

mT 7 @3 @

e _Sec_(C‘-ou-l -2—)= .

Sl

@2 o
o 44.'TanCos—"”E‘= S

ey — d)—
- ,('c '3 @ '( -J 37 : )

@B ® 3.1-_4- T eX
;4‘5_' Cosec (Tan-‘(-rl))-— ..... W& - f-' co - o
(a)T (b)—T (c)ﬁ @2
--46."Sm(Sm“i)—__.,...._. |
@t -(b)'—ﬁ R <R
n 47, Tan(Sm'l(——))—....'.i,;.: |

; (a)J' (b) N (c)T (d)~$ .
48, Sm -1A + Sin “‘B is equalto o ' =
"'.(a)Sm-l(A\/l_—E" +BVi-47) (b)Sm-l(Af B? -BJI 4 )
(@ Sin-(BV1-47) - (AJl B’ )(d)Sm-l (ABJ(I A1~ B)
49. Sin1A-Sin- ' B=......
(@Sin-1AVI-B’ PyBVI—A?) (b)sm-l(Af B —B\/l A
(©Sin-1 (B \/i—_/!_ ) - (A\ﬁ_TB_ ) @Sin- (A8 J(l AN1- %)
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. Cos 1A+ Cos“B = ..
(a)Cos*‘(AB = Ja- A*1- B%))

(CosI(AB +/(1+ A*)(1+B®) )

" 51. Cos -'A - Cos"'B=...oceun..n.
(2)Cos™MAB —(1- 4°)(1- B’ ))

(OCos-I(AB +J(1+ 47)(1+ B ))_' ,

. 52 Tan-+A + Tan-'B=

A-B

T —~1
(a) an ( 1+ 4B
-8B

Tan -1
(@ Tan (1 4B
-53. Tan ‘1A—Tan -1B =
o "A-B
T s o
(a) an( AB). .
g
(c) Tan (- ‘
- | (c) an (1-_AB)_-
- 54, 2Tan-1A— '
| (a)Tan-l(

) -

y

1- Az)
N 2A K
| (¢) Tan ~(; ‘= Az)
55. S1n 1 (wx) = L.
7 - (@)-Sintx
56. Cos™! (-x)
. - . (a) Coglx.¢
57. Tan-l(—x)

(b)'Sin~! x

(b) Sin-i x

{(a) — Tan ~lx (b) R —tan *lx‘ -

58. 2 Sln -1 A S diseean.

(a) Sin1(2A 1- A
(¢) Sin 12A \/1+A )

59. 2Cos-1A=

.. -(a) Cos~1(2A%-1)
(©Cos1(2A~-1) -

60. Cosec () T e,
(a) -Cos.er::l X
(¢) n — Cosect'x

(@ - Sin- x

| '(c)‘1:¥CO§“x-

: (b)Cos-l(AB +J(1 A )(1 -8’ ))

(d)Cos-*(AB J(1+A )(1+B )

(b)Cos I(AB +(1- AX-8)
‘(d)COS—l(AB -+ A +BY)

A+B

1~ AB
A+ B

+AB

(b) Tan =1( -

(d) Tan “‘( )

+ 8
l—4B
A+B
J1+ AB

(b) Tan -1(

Y.

(d) Tan '1(

.'(b)'Tan ‘_‘(A.ZA');
(d)Tan-l( y L

1+ A?
(d)n-Sinx
(cl) - COS‘l

(c) cot ~1x

)Sm“T(A \/I A
(d) Cos 1 (2A\Il A )

(b) Cos -1 (1-—2A2)

(d) Ts\n"1

. (@) Cos~!(2AM1) - -

" @Sinix *

@7 -Sinlx
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61, Secl(=x) , o L :

. (@Cosx (b)Secix ()m-Seclx (d)-Sectx

62, Coti(=x) =......... T S o
(a) % Cot.-lx- (b)  —tan -lx (c) 1t —cot ~lx (d) Tan'x

é3. Tan(cos - £J= ‘
Y5

64. Tan“'[l 2A2_] ‘is equalto:

N

R

2 @hs @

(é)Tdn_lA _ ,I (b) Tah'{%) (c) ZTan"V"A '. (d) Tén“(‘-;—i}
65. Tan'(2A)= P\
. | o (a) Tan”'(i;-) - (b) Tan;'_(%) (©) 2Tan"'A (d) Non of t'lies_e‘

Chapter -14 Multiple Choice Questions
| (Encircle the correct answer choice) -

I. An ‘equation containing at.léast ohe trigonometric fﬁnctién-is;calléd-:
. (a) Trigonometric function ~ (b) Trigonometric equation .
. {c) Trigonometri¢ value (d) Periodip equation

2. IfSinx =%, thefsolution in the interval [0, 2] is:

P 71' 4 ' zz"- 2n

n Sn
| —_—, — d —, — -
() {3 3,} | _(f_) {\3 3 _}

,(a) {'g, ¥ .} (b)‘{E? _6_}

' 3 If Cos % =% , then reference angle is:

.4 S N 1

- . ‘(b)) ~— — S d) ——

@3 o O3 Oy @

4. If Sin x?—%., then reference angle is: -
-

@3 OG5 @7 o



o Qﬂggﬂv;ﬂm e
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(?1){-4—+_‘M.-sf-‘ +§u.,r} : (b){%+2 nx, -5-4f-+2n xy
Y. D, A T 3n -_
, (c){-z-l-nz —-z—nz} (d){4+2 zr,-z--s—zn::} neZ -
6. Iftan 2x= -1, then solutmn in the interval {0, :r] 1s
- ' 3x '
. ik . d -+
| (a)8 H‘, (c)8 | | () B
- If Smx-bux-n Mvduecixemlz]
 wEE m{i'- -’-"-} @Iy m{-’- -—} |

4

| 8. Ifon2x=—-\EE3-. then x e[o x] u o

(){-’f- -5-’5—} <b){—— 21 @& -5-’-'-} (d){- -} |

9 General soluuon of the equauon 1+ cos X & 0 is;

(a){zr+2n ;r} - (b){;r+n;r} neZ
)y {-z+nn}. _ - '(d) aon™ '
10. General solution of 4 sm x—8=0ns:
- @{z+2nz} ) {m+n 71}, neZ
o @Fz+nn} () not poss1b1e '
11, Ifsinx=  COB X, then value ofxls
L 87, ¥ 4 371' 3rr 57;

(a){ o <b){-~ el (){—-—-—} @5 -—;

12 Ifcote T thenvalueofem[() ::] ig:

(a)— L -(-){+~ —-}”(d)Non

: 13 Solut:on of equatmn 2 8in x + J— 0 in 4th Quadrant 18:
B I I S %ﬁ S
‘14. If sin x = cos x, then General solutlon 1s- |
. (a){4+n:r neZ} (b){ +2n/‘f ’teZ}

© {%+ nrr%’h nrned) _<d){;f=gn-g,%—.fgm, ne2)
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185,

16,
17.

~18.

19..
20.

21

22.

23,
24,
25,

' 26.

If cos? x =5, then value of xin [0, 2x] are:

@EF wGh
T 27: zo T 27:' 47: 5n
(){?"3— 6} L (d){ 3 }
_If4 sinzx 3, then value ofxm [0 ’Jt] i’
@i <b){~’5-§i'—} O =5 (d){i’-’— -Sﬁ}

For the general solutmn we first ﬁnd the soluuon m the |

interval whose length is equal to its:
{a) range . (b) domain  (c) co- -domain (d) period o

~All trlgonometnc function are ................. functlon
_ (a) periodic - (b) continues ( c) mjective " (d) bijective

General solution of every tngonometnc equatlon consists of
(a).one solution only - (b) two sdlutions -~
(c) infinity many solutlons (d) No real solutmn

If. sin 2x = cos x, then values of xin\{0,n} are:. -
S 2

- T Szr x x Sm T T T o
Z 2 2D | —,~ y{ —,—,—~—
(a){ }()tz 5’ 6} (C)_{2»6}. ,(d_){2"3'7.3'
If_Smx, O, then solution setds: SR
@y Wi Ny ©@f{nn,neZ) {2rneZ)

Ifsin=1, then solutlon set i8: e | o
(a){;r} . \ - (b) {£+-nﬁ —3—2{;—+ n, ne'Z}

(c){—+ Zmr} e (d) {mt ne Z}

If cos x.31, then solutlon set is: | e _
@ O e neZ} (d)_{g—f2 e
If cos x = 0, then solutlon setis: S -
(@) {—~} (b {——} () {—+2mt ne 7) (d) {2 nm, ne Z}

It tan x = 0, then solutlon set is: | o
(@) {0} brimt  @{nmneZ} -(d) {27&_ nely
If cot x = 0, then solution set is: .

(a)_{?' (b){——-—} © 5+ 2nm ne Z} @ {z n, ne Z}



OBJECTIVE PART 70

-

27..

- 28,

| 29,
30,
3L
32,
.
.-3'4'.
35.

36.

37.

If cosec x =1, then solutzon set is;

' (a)'{v-_.——-} S { )] {—-—} ( ){ —+ 2mt ne Z} (gl) {2 nn, ne Z}

Ifsecx= 1 then solutlon set is: : o :
@i - - O z) @©@{nmne Z} (d)r{2n1t, € Z}

If sin x =-1, then solutlon get is:

" (@) {-—}- (b) {~——} B (c){—5+mr, neZ} (d){2mt, ne Z}

If cos x = -1, then solutlon setis:
(a) {n} S - () {m+nn, neZ}
) {n + 2nx, n: e 4 S @ {2nx, ne Z} :

If cosec = —1 then solutlon set 1s

(@) {—-} (b) {—-—} | (){--—"' nm, ne Z} (d) {(2nn, nGZ}

If sec x-—l then solutlon set is = ' \ ' .
@f{0} o o © {2 e (D) {t+2nit,"n eZ}
If tan4x l'then'Value of xin [0, 2n) isi "\ © '
m Sm. n Sm. T Sn( _

: (){"———} (b)rl—é"l“é"}(){ -—*'} (){516}

One solutlonof secx-—2ls ‘ e

._ (a) . (b) o @:5 (? ;3 |
Ifc030=—-£_ and sind = ‘T_,rthe_n_ 0 is:
R o B

f ®F oy  eF

Sin 2x = —31 has two“v'éiu.e's 'of-l:x- in the' mterval -

| (a) 051 ® {o 2n1 @ [—n,f—l @ [—'—25’-0]

Solutmn of smxm;- m [O 71'] is:
o PR N2 57{,._ .... ~—7r
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ANSWERS

Ché.p_ter- 1 ANSWERS KEY

‘Wd @b @d @a Gb @a Db @a @b 1) s .

C(1)b (12)a (18)a (14)a (15)b (16)d (A7) d (I8)e. 19)a (20)h
(2)c (22)b (23)a (29 c (25 a (26)d (27 c (28)d (29)a -(80)c¢

(31)c (32)b (33).b (34)c (35)a (38)c (37)b (38)c (39)d (40)a

(4D a (42)a (43)a (44)c (48)a (46)c (47)d (48)a (49)b (50)b
(31)d (62)a (58)a (54)b (55)b. (56)a (57)a (58)c (59)b( (60)a
(61)b (62)a (63)a. (64)a (65)d  (66)c (67)a (68)b (69)b"(70)a

(71)c (72)a (73)a (14)b (75)c (76)& (Db (78)b (79) a (80)a .

(8Dc (82)c (89)b (84)a -

| Cha‘ptex_-# 2 ANSWER KEY

(1)a @)b (@)a (4) a (5) d (6) b (7) a (8) b (9)a (@Q0}b - :
(11)a (12)a (13)b (14)b (15)a (16)alA17a (18)c (19D (20)a
2 c (22)d (28)a (34) b (26)c (26)c) (27)a (28)a (29)c (30)b
~ (31)a, (82)d (33)d - (34)a (35)b _(36)a (37)a (38)d (39)d (40)c
(41)d (42)e (43)e (449 b (46)b _(46)b (47)a (48)b. (49d . (50)a

GDb (62)a (33)Ya (B4)a (56)D (56)a (57)a (58)c (BENd (60)a . .
‘61 62)b (63)a EH)b (B)a EOb 6Nc (B @)a (Ob
(T a (72)a (78)a (74)a\(18)a (16)b. (17)d- (78)b (79a (80)d

(81)c (82)a (83)a (84)D/(85)b (86)b (87).a (88)a (89)b (90)c

6D d (62)d (9))a (Bab (95)c (B6)c ONa (B)b B9a 100d =
- (101) a (102) b (108)'c (104)b (105) b (106) b (107) a (108) 2 (109) ¢ (110)a
(111) b (112) ¢ (118),2 (114) a (115) b (116) e (117) c (118) ¢ (119) ¢ (120)c

(121) ¢ (122) c(123) b-(124) a (126) d (126) a (127) ¢ (128)a (129) b (130) b’
(131) ¢ (132)b(133)a.(134)b(135) b(136)a (137)c(138)c (139)a (l40)ca
(141)a (142) b B R

Chapter- 3 ' ANSWERS KEY

Wa @d @O @ Ga @2 @a @b Gc ayd

(11)b (12)a (18)a ‘(14)d (16)a (16)b-(17)a (18)d (19 a (20)d

(21)d (22)a.(28)a (24)b (26)b (26)a (27)a (28)d (29)c (30)d = i

@b 32)b. 33)d 39 b (35)a (36)d (87)a (88)a (39)b . (40)b
() a (42)d (43)c (44)a (45)d (AB)c (47)d (4B)d(49)a  (50)Db
(51)d (52)a ‘(53)d (54)d - (55)d (56)b (37)a (58)b (59) ¢ (60)d
61)b (62)b (63)a (64)d (65)b (66)a (67)b (68)a (69)b  (0)c
(7D d (72)c (78)a (74)b (75) b (76)a (77 a (78)d (79) (so)a
GUc (2a GYa GHc @3«?’

< g@’g
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\

'Chap_rter+-4' - AN'SWERS_"I'{EY, |

1) b (@b (3)a @a BG)a (B)c (Nc @b Ha 1AGc
{aec {12) a (13)c (14) b (15)c (16)b (17 c (18)c (19)a (20)c
(21)d (22)a (28)c(24) b (25)d (26) b (27)d (28)< (29)a (30) a
(31) b 32)d. (38) ¢ (34) a (35) a (36) d (37)c (38)d (39)c (40)a
(41)c(42)a (43)a (44)b (45)c (46) a (47) b (48)c (49)c (50) d .
GDbG2)b (53)a (B4)b (B3)a (56)c (57)d (B8)c (59)d (60) b .
(61) a (62)a (63) a (64)d (65) a (66) d (67) c (68) b

‘Chapter— 5 "'-,VA'NSWER'S KEY.{ )

M2 @b @a @b . B®b ®b Maddb (Ob a0a
C(11)a (12)d A3)c (14)b (15)b (16)b (1De, (18)d (19b (20) a
2Da .(22) 2 (23)c (24) 2 (25)a (26)d @Db (28)c (29)d (30)a
6D (32)a '

= Chapt’er.-;ﬁ - ANSWERS KEY <

Ma @b B)c @ (5)c (6) d o a .(8) d .(9) b (10)a .
(1D)b (12)a (13)d. (14) b (15)b (18)a (1T)a (18)a (I9)a (20)b

- (21)b (22)b (28) a(24)a (25)c (26)a (27)a (28)b (29)b (30)b
(31)a (32)d (33)d ‘(34)d (35)d (B6)a (3L (38)a (39)d (40)b
(41)a (42)a (43)a’ (44)b (45)d @6)d (4T a (48)b (49)a (B0)a .
(G d (52)b(E8)b. (B4)a (B5)b. (56)c (B b «58)a (59)a (60)a
(61)a (62)a(63)c (6L a (65)d (66)a (67)b (68)b (69)c (70)c
wnc Wmcﬂﬁc‘ | ,

Chapter-7 = ANSWERS KEY_

il):.a--. @ a -7(3)b @®a G)a (6);1‘ ™c (S)b (9)b aob
(11)a (12)b (18)a (14)a (15)a (16)a ADd (18)c (19b . (20)d
(@) a (22)b (23)b (24)¢c (25)b (26)b (2T)c (28)a (29)b (30) b

B B1) a 32)b (33) c (34)a (35)b (36)a 37 a (38)a (39)a (40)a

@b (42) c (@3)b @) a ,5‘(45-) b (46)c (47)b (48)b (49)a G0y c
- (GDa (52)b ()b (G9b (B5)b (B6)b (57a (BBa (59c (60)b
(6Da (62)b (63)b (64)a (65)3 (66)a 6N a ©8) b (69)c (10)a

(71) c (72) d (73) a (74) d (75) s (76) d. (77) a _ * o o
7 nDRh%b@
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Chapter -8 ' ANSWERS KEY

W @d @b @b G)a @b (Ma Gb Gc (A0)b
(11)a (A2)c (13)3 (14) b (15)a (lﬁ)b (17)b (lS)b (19 b (20)0‘-_ .
@Db @24 @b @Hb @Ba (a6)b @7 & (28) 4 @b G0
D4 (82)a @b B0 d 69 |

| Chapter-9 S ANSWERS KEY.

‘Wb @ec @b @Wd Ge ©d Dd @b @b (0b
(Ab (1A2)b (l3)b _ (14)a '(15)‘0 (16)c (1Db (18)ec (19)c.(20)d
(21)b (22)c (28)a (24)a (25)a 26) b (27)a (28) b (29)a "(30) a

| (81)a (32)c (33)b - (34)a (85)c (86)a (37 b (38)b (39)b" (40) c

(41)b (42)d (43)a (44)b (@8)c (46)a (4T b (48)c (49)d (B0)b
(B1)a (52)a (53)c (54)b. (55)d (66)b (57)a (58)a\(5%)a (60)b
S (6Dd (62)b(63)d : N s D

[Chapter-10 - aNsweRs KEY

"Ma @a @b @a ®b® LM c ®c @d A0b
(1Da (12)d (18)d AHb (5c AL (1Da (A8)b (19)d (20)a
@Dc (@2a (29c (249d @6)d (6Fc @Da (28)d (29)d (30) c
(31)d (32)d (33)b (34)c (35) a (36)b 37 c (38)a (39)c (O Db

: (41) a (42)b (43)a (44)a (45)a, (46)d (47) a (48)c (49)d (50) b

G)c (G2)b BG3Ha (4Hc (G5Ya (56)a (BN b (58)c (59)d (60)a N

 (61)a (62)a (63)b (64)a ©)b (66)b (CUTCUE T

- [Chapter- 11\~ .~ ANSWERSKEY = .
T Ma @al@c Wb Bc @b NHb )b (a (10)a
AYb (A2)b (13)d ()b (16)b.(16)a (1T a (18b (19)b @0)c
GDb (@2a @b @Ha @5c (26)c @Na (28)a @9)c (0) d
GD.b GDd GHb BHd A Bb

Chapter-12 ANSWERS KEY -
(1) d (2)b. B)a (b (BG)a B)Ad (Na (B)Yb B)c- (10)c

(11)a (12)c (18)d (14)c (15)b (16)d (1T)b 18)d (19)d 20d.

(21)c (22)a (23)d (24)d (25)b (26)b (27)d (28)c (29)d (80) c
(Bl)c (32)a (33)a (34)a (33)c (36) ¢ (37)b (38)b (39)c (40)a
(41)a (42)b (43)b (44)d (45)d (46) c: U7 48 a (49)d (50)c
(51)a (52)d (53)a . (64)c (55) a
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Chﬂ)%p 13 . ANSWERSKEY

(1) a @b @)c (4)d (B)b (6)c\(Na (®a (@b (10)Db

(1) e (12)c (13)a (14)a (16)b (16)b (17 c (18) ¢ (19)a (20)b
(21)c (22)d (23)a(24)b (25)b(26)a (27)a (28)b (29)a (30) a
- {(31)b (32)a. (33)b(34)b (35)a (36)a (87)d (38)a (39)d (40) c
(41)a (42)d (48)a (44)b 45)d  (46)a (47)d (48)a (49)b (60)a

(61)b (52)a (53)b(54)b (B6)a (66)c (57) a (58) a (59) a (60) a

| (B¢ (62 (Ga)a(64)c (65)d e

Chapter- 14 N ANSWERS KEY

b @) a (3)a (4) ¢ (5)a .,(6),a (7) ¢ ®)d @a (0)d
(ADb (12)a) (19)b (4 c (15)d (16)a (17)d (18)a (19)c (20)b-
(2 c_22)c (28)c (24)c (2B)c (26)c (27)c (28)d (29)a (3o)c
7(31)a (#2)d (38)b (84)a (88)c- (36)a (7c . .
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